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Question Number : 1 Question Id : 5406266432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

R15, U21, X27, A33,?
Options :
1. ® C37
2. % D39
3. % E39
4. % D37

Question Number : 1 Question Id : 5406266432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § U Ue g 8| fau U fasedt & O o 9e! fawed gg, S 3 gehH &l 1 &R

R15, U21, X27, A33,?
Options :
1. = C37
2. % D39
3. * E39
4. = D37

Question Number : 2 Question Id : 5406266433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

MV, SP, YJ, ED, ?
Options :
1. ® KY
2. ¥ KX
3. % LY
4. % 1LX

Question Number : 2 Question Id : 5406266433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T B, Ford @ U ue g 21 fau T faswed & ¥ 98 el fawed g, St 3igehd o T |

MV, SP, YJ, ED, ?
Options :
1. # KY
2. ¥ KX
3. % LY



4. % LX

Question Number : 3 Question Id : 5406266434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

MRAP, RMFK, WFKF, BCPA, GXUV
Options :

1. * RMFK

2. % BCPA

3. # GXUV

4. ¥ WFKF

Question Number : 3 Question Id : 5406266434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hH fea T 8, ford § U ug Tad ¢ | 3T T fawed! & 9 39 7Tad U &I gfu|

MRAP, RMFK, WFKF, BCPA, GXUV
Options :

1. * RMFK

2. % BCPA

3. ®* GXUV

4. ¥ WFKF

Question Number : 4 Question Id : 5406266435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AP4, GH2, MZ6, SRS, ?
Options :



1. ® XJ16
2. * YKI14
3.¥ Y4
4. = XK16

Question Number : 4 Question Id : 5406266435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 feran T B, R A U Ue g B | Fw T et A & o8 U8 Reed g, S g B R AR

AP4, GH2, MZ6, SRS, ?
Options :

1. # XJ16

2. % YK14

3.¥YJ14

4. % XKI16

Question Number : 5 Question Id : 5406266436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. ¥ RTVX

2. % FHIL

3. ¥ MOQT

4. % KMOQ

Question Number : 5 Question Id : 5406266436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad vy # it 7T fowedl & § faud Trsg &1 9T

Options :



1. ¥ RTVX
2. % FHIL

3. ¥ MOQT
4. % KMOQ

Question Number : 6 Question Id : 5406266437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word pair from the given alternatives.
Options :

1. % Red — Colour

2. % Axe — Tool

3. ¥ Teacher — School

4. ® Male — Gender

Question Number : 6 Question Id : 5406266437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we o fou e fawed o 9 fawd 2rsg g &1 gAT|
Options :

1. % e - 3T

2. % Hegrel -3k
3. ¢ AU — faegTey
4. % Q=Y _fefmr

Question Number : 7 Question Id : 5406266438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) are related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :
1. ¥ KPMG - LRUP



2. # RDFA - FKIW
3. ¥ LKMP — URPQ
4. ¥ TVRF — KWAX

Question Number : 7 Question Id : 5406266438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R RuTT Ty, TR 3eR T R TT R () P T 3R 38 T 31aR () & <t 3R o T 3reR A fpht adh fm/dey @ Tefia g1 =
I U don/aH/AeY & SMUR IR 99 g | f38 T fawed # ¥ faww &1 gf-u|

Options :

1. ¥ KPMG - LRUP

2. # RDFA - FKIW

3. # LKMP - URPQ

4. ¥ TVRF - KWAX

Question Number : 8 Question Id : 5406266439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) are related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. # HABK - PYZS
2. % RKXY - BCPI
3. ¥ ADWL - ODWZ
4. ¥ LNJP - KQMV

Question Number : 8 Question Id : 5406266439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRfermuuy & IR ser g T g1 (1) P Tt 3R fod T 31eR () & et 3R fad T 31eR  fopdt b/ fFam/ddy @ Gefyd g1
I T doh/FoH/Aey & YR IR IAH g | foU 7 fawedl & 4 faww &1 gfu|

Options :



1. * HABK — PYZS
2. # RKXY - BCPI
3. ¥ ADWL -0ODWZ
4. % LNJP - KQMV

Question Number : 9 Question Id : 5406266440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Teacher : School :: Doctor : ?
Options :

1. ¥ Hospital

2. % Medicine

3. # Patient

4, % Treatment

Question Number : 9 Question Id : 5406266440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad vy # it 7T fowedl & 9 9efid 2rsal &1 g

o O\ ON

HYMD : [9dTdY :: T Db : ?
Options :

1. % Al

2. % gdTs

3. % TR

4. ® 3UAR

Question Number : 10 Question Id : 5406266441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(PR, TN, X1J)
Options :

1. # (MK, QG, UD)
2. % (LF, PB, SX)
3. % (GT, KP, OL)
4. % (KP, OM, SI)

Question Number : 10 Question Id : 5406266441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), s1erl &1 Ue Wig fear a1 8 | U g & 31&R I THg & 3HeRT & 1y forg adb/Mam iy ¥ defia §1 e e
fasmedl & I 31eRT & U g &I gHT ol THH dob/aH/AdY BT IR0 Sl 81|

(PR, TN, X1J)
Options :

1. % (MK, QG, UD)
2. #% (LF, PB, SX)
3. ¥ (GT,KP,OL)
4. % (KP, OM, SI)

Question Number : 11 Question Id : 5406266442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

MFVL : RAJP :: ?
Options :

1. # KMPL : QUQN
2. % RONG : NSSU
3.4 AJDP : VIND



4. % MNFA : GKQP

Question Number : 11 Question Id : 5406266442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad uy o fau e fawedl & O defia sieR g o1 gl

MFVL : RAJP :: ?
Options :

1. ¥ KMPL : QUQN
2. % RONG : NSSU
3.4 AJDP : VIND
4. ¥ MNFA : GKQP

Question Number : 12 Question Id : 5406266443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

MOIN : SWSZ :: ?
Options :

1. # GAME : MIWR
2. % LOPR : RVZD
3. % FRAP:LZLB
4. ¥ HORP : NWBB

Question Number : 12 Question Id : 5406266443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥ fau e fawed! & O d6fid sieR g &1 gfHu|

MOIN : SWSZ :: ?
Options :



1. * GAME : MIWR
2. ®* LOPR : RVZD
3. ¥ FRAP:LZLB
4. ¥ HORP : NWBB

Question Number : 13 Question Id : 5406266444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MAN’ is written as ‘3°, ‘PINT’ is written as ‘4’. What is the code for ‘ROCKY” in that code language?
Options :

1.¥5

2.%6

3.% 4

4. %9

Question Number : 13 Question Id : 5406266444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRy B W &, ‘MAN’ &1 <3° oRIT ST 8, PINT” T <4” foRaT ST 81 39 I HIWT H ‘ROCKY’ T HIS T 82
Options :

1.¥5

2.% 6

3.% 4

4. % 9

Question Number : 14 Question Id : 5406266445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘PIN’ is written as ‘39°, ‘MOP’ is written as ‘44’. What is the code for ‘ARM’ in that code language?
Options :

1. % 38

2. % 28



3.9 32
4. % 26

Question Number : 14 Question Id : 5406266445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E Bie YT, PIN® BT <39 feraT SITdT 8, “MOP’ i *44° foral ST 5 | 39 IS U T ‘ARM® HT HIS T 62
Options :

1. % 38

2. % 28

3.9 32

4. % 26

Question Number : 15 Question Id : 5406266446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Pink grass is white’ is written as ‘@ tk Im pq’, ‘White are lillies’ is written as ‘# Im rg’, ‘Lillies are grass’ is written
as ‘rg # @’. What is the code for * White grass’ in that code language?

Options :
l. ® rg#
2. % Imtk
3.9 Im @
4. % rg@

Question Number : 15 Question Id : 5406266446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fafRiy e ‘J-ITNT'Ef, ‘Pink grass is white’ Cal ‘@ tk lm pq’ forar ST %, “‘White are lillies’ 1 ‘# Im rg’ forar Gﬂ?‘lT%, ‘Lillies are grass’ Gal ‘rg
#@ forar ST B I IS HIET H “White grass’ HTPIS FT 82

Options :

1. ® rg#

2. % Imtk



3. Im @
4. % rg @

Question Number : 16 Question Id : 5406266447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MACKERED?’ is written as ‘AHOHHFXP’. What is the code for ‘TRAINSTR’ in that code language?
Options :

1. # OXPQEDOW

2. ¥ OWPQFDOW

3. ¥ OWPQEDQW

4. ¥ OVPQFDOW

Question Number : 16 Question Id : 5406266447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR BIS YW &, ‘MACKERED’ &1 ‘AHOHHFXP® fora ST 81 S8 $1S WTWT § “TRAINSTR’® 1 HIS &1 82
Options :

1. # OXPQEDOW

2. ¥ OWPQFDOW

3. ¥ OWPQEDQW

4. % OVPQFDOW

Question Number : 17 Question Id : 5406266448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘PINTKR’ is written as ‘9167131811°, ‘GOMTT’ is written as ‘187141220°. What is the code for ‘TRAPS’ in that
code language?

Options :

1. % 8261197
2.9 8112697
3. % 813697



4. %= 8132767

Question Number : 17 Question Id : 5406266448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fAfTE BIS YW &, “PINTKR® BT 9167131811 TIRaT ST 8, “GOMTI® BT 187141220 ToRaT STl § | 9 HIS UTNT H “TRAPS® BT HIS
T Z?

Options :

1. % 8261197

2. ¥ 8112697

3. % 813697

4. % 8132767

Question Number : 18 Question Id : 5406266449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Height of 5 students A, K, P, Q and R is compared. Height of no two students is same. Height of P is more than only three students. Height of Q
is more than A but less than R. Height of R is not more than P. How many students are taller than R?

Options :
1. %1
2.% 3
3.0
4.9 2

Question Number : 18 Question Id : 5406266449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5BHA,K, P, QawRﬁmdliaﬁgmﬂlﬁmﬂ%lﬁ‘s‘ﬂ-ﬁzﬁ@mlaﬁmdli qAH T8l 8 | P B Gdls had o4 3E1 9 31fd g1 Q Bl
3T A QoD 2 ARPTR PR R B FE p A i T | fbe B R A TN B

Options :
1. % 1
2.% 3




3.%0
4.9 2

Question Number : 19 Question Id : 5406266450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is the mother of R and F. M is the father of J. J and K are the children of F and M. Which of the following statement(s) is/are correct?

I. K can be the son of F.
II. R is the sister of F.

Options :

1. % Only I

2. % Only II

3. % Both Iand II
4. #® Neither I nor II

Question Number : 19 Question Id : 5406266450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A RJUFHIAMGEI M, J BRI JTUTK, FAITM & 5= & | Huferaa & T &9 913 oY= 98t 8782

I.K, F &1 I gl 9ohdl g
LR, FPHI TET8
Options :

1. Had 1
2. % Had Il
3. % [QUT I gHl
4. % 1B 1

Question Number : 20 Question Id : 5406266451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8 boys G, H, I, J, K, L, M and P are sitting around a circular table facing towards the centre. K is second to the right of J. H is the immidiate



neighbour of J. P is second to the right of H. L is fourth to the left of K. H is not to the immediate left of K. G is the immidiate neighbour of I and
L. What is the position of M with respect of J?

Options :

1. # Third to the left
2. % Third to the right
3. # Fourth to the right
4. # Fourth to the left

Question Number : 20 Question Id : 5406266451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8TASH G, H, I, J, K, L, M IUT P % B! 3R TG HRab U JaIBR Hol & 36-11G 96 UG K, J & Gl 3R gARI & | H, J BT FAdhedd Usiit
gl Pg%ﬂﬁfﬁ?@ﬂ%l L, K & 9t SR AT 1 H, K & G a1l 3R 8T 81 G, 1 9UT L 1 FAchead usiit 817 & Y § M &1 =
182

Options :
1. % SRIT 3R R
2. ¢ T SR dRRT
3. % ardl ofiR e
4. % AT SR AT

Mental Ability2
Group Number : 2
Group Id : 540626183
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General intelligence and reasoning Ability2

Section Id : 540626262
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626303
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5406266452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 articles A1, A2, A3, A4, A5, A6, A7 and A8 are kept one above the other. No article is kept above A7. Minimum 5 articles are kept between
A7 and Al. Only A8 is kept between A7 and A6. Only three articles are kept between A2 and A6. A4 is not 4 places above Al. Which of the
following statement(s) is/are correct?

I. A3 can be 3 places below A6
II. Only one article is kept between A2 and A5
II1. 7 articles are kept above Al

Options :

1. # II and III
2. % Tand III

3. % Tand II

4. % I, Il and III

Question Number : 21 Question Id : 5406266452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



8 T Al, A2, A3, A4, A5, A6, A7 TUT A8 TH & JTR TS XTI Tl §1 A7 SW PIS 9% ol T TH§1 A7 AT A1 S HAFH A FH 5
T@ﬂﬁ%lAﬁ%ﬂAé%nwWAw@w%l A2 TUT A6 & A Had dIF gl IT T Gl A4, Al T4 /A SR T8l 8
ﬁaﬁr@aﬁ@rﬁ:{m@$wmﬁﬂ%%v

I A3, A6 ¥ 3 ®IF < 81 gl §
IL Aza%nA5$nwWwaﬁwﬂmﬂ%
1L Al % SR 7 T4 W TR §

Options :

1. % I dUTIII
2. 1dYUT I
3% 1dYT1I

4, % I, 11 dYTIII

Question Number : 22 Question Id : 5406266453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. No R is B.
II. No B is K.

Conclusions:
I. Some B are not R.
II. Some R are K.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. * Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 22 Question Id : 5406266453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fou U Uy H 8 U 3R IF 918 I HYAI IR ARG & 56y 3T T4 § 1 3T T w2 1 98t am, 3R S8 Qg J1d 9
3 e g1t frsed ue 3iR fsR Ruffea &% for o o o1 1 feewd, 3w 7T et & SR R gfaaima €|

hY:
. ®is YR, BBl B
11 PIs B, K T8 2l

frsp:
. $S B, R T8l gl
L. $S R, KB

Options :

1. ¢ $ad (=6 | STERU BT ®
2. % Had (BN [1 IR0 Il §
3. % G FIShY [ T 11 SFJAR0T Rl &
4. % I3 U FTsHY SR T8I HraT §

Question Number : 23 Question Id : 5406266454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some L are J.
II. All M are J.

Conclusions:

I. NoLis M.

II. All J are M.

III. Some M are L.
Options :

1. % Both conclusion II and III follows



2. * Both conclusion I and III follows
3. #* Both conclusion I and II follows

4. # Neither conclusion follows

Question Number : 23 Question Id : 5406266454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 fou T Uy T @ U SR 3P 918 31 B IR MR & Fsws fu MU g1 3T T SHy=l &1 9! 4M, =g 394 I I1d a2t
3 frzrar g1t e o ofk fisR fReifa &% i fou o o @ fse, fou e sy & smyR &R gfaaia g

HY:
LPSL, IR
.9 M, I

fep:

L Pis L, MR Rl

.9y, MEl

1. S M, L gl

Options :

1. % QI FT5BY 11 T 111 S8R0 & &
2. % QI FSHY [ T 111 RT3l §
3. % Gl 5B Y 1 TT 11 SR Hd &
4. ¥ BIS Wi Feepef 3rgERuT 78T el 8

Question Number : 24 Question Id : 5406266455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All P are Q.
II. All M are Q.



L. NoQis T.

Conclusions:

I. Some M are not T.
II. Some P are not Q.
III. Some T are not P.

Options :

1. % Only conclusion I follows

2. # All conclusion follow

3. % Only conclusion II follows

4. ¥ Both conclusion I and III follows

Question Number : 24 Question Id : 5406266455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR UING & 56y 3T T4 § | 3T T 2= & 981 A, 918 S8 Qg I a2
3 forzrar g1t e o ofk fsR fReifa &% 6 fou o o1 @ s, fou e syl & smyR &R gfaaa g

HY:

Ladte QEl
.3 M, Q Bl

1. &1t Q, T B

frep:

L$SM, T8l gl
IL.FSP,Q TRl gl
. $S T,P el gl
Options :

1. ® % [T5HY [ 3IIRV Hl 8

2. % Quft Iy SFRR0 vd §

3. % $Haq (ISHY 11 SITRUI Bl §

4. G fISR S 1 T 111 IR0 HRd &

Question Number : 25 Question Id : 5406266456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some R are S.
II. Some P are K.
III. Some S are P.

Conclusions:

I. Some P are S.
II. Some K are S.
III. No R 1s K.

Options :

1. # Only conclusion II follows

2. % Only conclusion I follows

3. * Both conclusion II and III follows

4. % Both conclusion I and II follows

Question Number : 25 Question Id : 5406266456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T f3u T Uy & 8 U 3R I 918 31 HUHI IR SAUNRG & (5pY 38 T4 § 1 3T T F2 &1 981 aM, 918 S8 Qg J1d 9
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HY:
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L. $S S, PRI
fsep;
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1. &S R, K T2 2



Options :

1. % ad (sHY 11 SFIR0I Fal §

2. ¥ Had fAHY [ IR0 BT §

3. % G IRy 11 TUT 111 SRR $HRd §
4. % ! FSHY 1 YT 1T SRR HRd &

Question Number : 26 Question Id : 5406266457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

243:9:: 148 :7?
Options :

1.9 13

2. % 12

3. % 15

4. % 14

Question Number : 26 Question Id : 5406266457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad uy & fau 7u fawedl & @ Heifta dwem o1 gfAuy
243:9:: 148 :?

Options :

1.9 13

2. % 12

3. % 15

4. % 14

Question Number : 27 Question Id : 5406266458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd number group from the given alternatives.
Options :

1. % (2,4,8)

2. % (5,25,125)

3.9 (6,36,72)

4. % (7,49, 343)

Question Number : 27 Question Id : 5406266458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy @ fou e fowed & ¥ faww S 9 &1 gl
Options :

1. % (2,4,8)

2. % (5,25,125)

3. ¥ (6,36, 72)

4. % (7,49, 343)

Question Number : 28 Question Id : 5406266459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

14, 16, 19, 24, 31, ?
Options :

1. % 40

2.9 42

3. % 43

4. % 44

Question Number : 28 Question Id : 5406266459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraferiad we & <1 7S e & 9 g 8f 1d S|

14,16, 19, 24,31, ?
Options :

1. % 40

2.9 42

3. % 43

4. % 44

Question Number : 29 Question Id : 5406266460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

12(17] 8
36| ? |37
1919 (24

Options :
1. # 35
2. % 32
3. % 34
4. ¥ 31

Question Number : 29 Question Id : 5406266460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAaferiRad uy o fau e fawel & 9 uy forg (2) o I WR 3 dTell S=A1 Bl g



12117] 8
36| 7 |37
1919 124

Options :
1. % 35
2. % 32
3. % 34
4. ¥ 3]

Question Number : 30 Question Id : 5406266461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many car are only red?

Red

Options :
1.¥38
2. % 12



3. %20
4. % 17

Question Number : 30 Question Id : 5406266461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frd R Had drd g2

Options :
1.+ 8

2. % 12
3. %20
4. % 17

Question Number : 31 Question Id : 5406266462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?



Small

I. Total number of small are 25
II. Number of pen which are neither small nor big are 8

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor I

Question Number : 31 Question Id : 5406266462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHad |

2. % HAdII

3. ¢ 1 UGl

4. % qEIIATR I

Question Number : 32 Question Id : 5406266463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

o Bike
2 Car
="
o
415 16
12
T Truck

[. Number of truck which are bike are 13
II. Total number of car are 40

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 32 Question Id : 5406266463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fAfafad 7§ 4 o9 91 $Y= I8 82
_ F_____a‘ls’a?
9 et
L
8
415 16
12 |
FED
11

1. 98 TH S SR &, B! Y- 13 8
II. FR ! Hd TSAT40 §
Options :

1. % PHadl

2. % Had I

3. % [ qUTII M

4. I

Question Number : 33 Question Id : 5406266464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :

>
B>




>
T

2. 8

[N/ \
\VAV/

3.

\/
/N

<[>
<>

Question Number : 33 Question Id : 5406266464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, fau 1 fawedt & 4 favw siepfa &1 gt

Options :

1. ®




3.

Question Number : 34 Question Id : 5406266465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

Fal a1 =M K

2.¥




¥

Question Number : 34 Question Id : 5406266465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(1) P ST MR <t eft & eepfoal farelt adh/ Moy § Sefia 71 3l T fadedl § 9 () & qriY SR THM /Mo ey W sramd
T Pl 1 |

Fa M e~ = M E

Options :

3
e




¥

Question Number : 35 Question Id : 5406266466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

x| K ||| 7 || K

Options :

1.¢

3. %

K| | K| K| K




Question Number : 35 Question Id : 5406266466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy O fau T fasedt & I Uy fawg (2) & RIM R 3 dTell 3phid D1 T

x| K ||| 7 || K

Options :

1. ¢

3. %

I BEIREIRES

Question Number : 36 Question Id : 5406266467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?



B
>

P

Options :

ol <] (P

]

Question Number : 36 Question Id : 5406266467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

DI I IR P UY HA P U= DI IR B2

VAN O
A | A

P

Options :

1. ¥

ol <] [P

]




Question Number : 37 Question Id : 5406266468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1.¥ 13
2. % 14
3. % 15
4. % 16

Question Number : 37 Question Id : 5406266468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS i H favan YT 82




Options :
1.¥ 13
2. % 14
3. % 15
4. % 16

Question Number : 38 Question Id : 5406266469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

LA

Options :

1. ®




4. v

Question Number : 38 Question Id : 5406266469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& e I Spiadl § F 39 IR Sl B g fora o uy siipfa kA B

LA

Options :

1. ®




4. ¢

Question Number : 39 Question Id : 5406266470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?



Question Number : 39 Question Id : 5406266470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 % T oo B faaTy SITaR BT &l HISHR e aul Wi & J1¢ I8 [ IR Mo fa ST fears e

........

&

Options :

#



e

4.9

Question Number : 40 Question Id : 5406266471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

Options :



| || | b

Question Number : 40 Question Id : 5406266471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A

Options :

| Y| P

3. %



General Awarenessl

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

3
540626184
0

0

No
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0

20

No

General Awarenessl

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
Sub-Section Number :

Sub-Section Id :

540626263
1

Online
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20

20

20
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1
540626304



Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5406266472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which state Gol-Gumbaz is located?
Options :

1. ¥ Karnataka

2. % Mabharashtra

3. # Andhra Pradesh

4. % Telangana

Question Number : 41 Question Id : 5406266472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
M-l fope o 7 fRA g2

Options :

| ¢ FlchH

2. % HeRIY

3. % Y U

4. % AT

Question Number : 42 Question Id : 5406266473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a wind instruments played by blowing the air and tuning the node with fingers.
Options :
1. % Kamaicha
2. % Tabla
3. ¥ Susira
4. % Khartal



Question Number : 42 Question Id : 5406266473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

91 Geadl auT el ¥ IS Bl S ®Reb §oiid o arell g4l AT ] |
Options :

1. % Sl

2. % ddcll

3. ¢ QR

4. % @l

Question Number : 43 Question Id : 5406266474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair(s) of state - festival is NOT correct?

I. Bihar - Bihula
II. Assam — Solung
1. Tripura - Heikru Hitongba

Options :

1. % Tand II

2. % Tand III

3.9 Il and III
4. % I, 1l and III

Question Number : 43 Question Id : 5406266474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I - AIER &1 Fgferiad # ¥ &9 91 gm I8t T8 32
LfogR - fogen

1. 3{H — e
111 FGRT - fgp feaivran

Options :



1. % 19U

2. % 1Y
3.9 [T
4. % 1 11U

Question Number : 44 Question Id : 5406266475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jhumur dance belongs to which state?
Options :

1. # Bihar

2. # Gujarat

3. ¥ Madhya Pradesh

4. ¥ Assam

Question Number : 44 Question Id : 5406266475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R 7 59 o0 § Yefid 22
Options :

1. % fdgR

2. ® I[SRId

3. % AH YR

4.« 3HYH

Question Number : 45 Question Id : 5406266476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Microeconomics — study of behaviour of individual economic agents
II. Macroeconomics — understanding of economy as whole



Options :

1. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 45 Question Id : 5406266476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A P T w98 22

1. Y e — faad onfdfes sifteaisll & TagR &1 &g
1. TP SRR — OR1 et &l S

Options :

1. % Had 1

2. % Had I

3. ¢ 1AUT I A

4. % qIATIATANI

Question Number : 46 Question Id : 5406266477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of GDP at the current prevailing prices is called?
Options :

1. ¥ NNP

2. % Nominal GDP

3. ¥ GNP

4, ¥ Real GDP

Question Number : 46 Question Id : 5406266477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A S IR SN, ST Y. &1 A9 o1 B 82
Options :

1. % T9. T4 UL

2. ¢ Hifes off. S U

3. % S T4, UL

4, % gr&dfde® ofl. St I,

Question Number : 47 Question Id : 5406266478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is true about monopolistic competition?
Options :

1. ¥ Goods produced by them are not homogeneous

2. % Number of firms is small

3. # No free entry of firms

4. # Marginal revenue is more than the average revenue

Question Number : 47 Question Id : 5406266478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSHTRISRY ufcrayl & Has & Fufefed § 9 o a1 ared 98l 82
Options :

1. ¢ 395 GRT IdTd a¥qU Il el gidit

2. % Ul B GO B BNl B

3. % Al &1 Yo Aafy 8T g

4. % i T ST T § 31 e 7

Question Number : 48 Question Id : 5406266479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an instrument of monetary policy used by Reserve Bank of India?



I. Bank rate
II. Marginal Standing Facility
III. Reverse Repo rate

Options :

1. #* Tand II

2. % Il and III
3. % Only III
4.+ 1, 1I and III

Question Number : 48 Question Id : 5406266479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o O YR Rod o gRT 39T {5 oI arall & forad 82

I §F R

11 TiHid R gfaen
1. Rad I &R
Options :

1. ® 1qUTI

2. % [IQUTIII

3. % had I

4. ¢ 1 11 dYT 1T

Question Number : 49 Question Id : 5406266480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair correct?

I. Rusting — Physical change
II. Cutting of paper — Chemical change

Options :
1. # OnlyI
2. % Only II



3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 49 Question Id : 5406266480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A P T 98 22
1. ST T — Hifde ufkada )

I1. TR ! HTeAT — IrRIfAe gRad-
Options :

1. % FHadl
2. % Had Il
3. % [ UGl
4. FA@IATA

Question Number : 50 Question Id : 5406266481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Arteries — carry oxygen rich blood
II. Veins — carry carbon dioxide rich blood

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 50 Question Id : 5406266481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & @ o o 3w 9el 82



I. YAAT - SIfaRTo TG Xad ®I o Ol &
1. RRRT - F1e SRS TG Yad &1 o 9Tl &
Options :

1. % PHadl

2. % HAdII

3. 1 QU1 Sl
4. % qIAIATA

Question Number : 51 Question Id : 5406266482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct about force?

I. A force can act on an object only being in its contact.
II. Liquids do not exert any pressure on walls of their containers.

Options :

1. % Only I

2. % Only II

3. % Both ITand IT
4. ¥ Neither I nor II

Question Number : 51 Question Id : 5406266482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ao & o # Fafaed # 9 o a1 98l 82

1. {3l aXg R & aTen 97 had IS 1Y Jh § 3 W & I g |
I1. 59 Sl B S1aRT IR Pl &Td g oiid |

Options :

1. ® Hadl
2. % BHad I
3, % [qUTII Sl




4. qTAIATAN

Question Number : 52 Question Id : 5406266483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Atomic number — sum of number of protons and neutrons
I1. Mass number — number of protons

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 52 Question Id : 5406266483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A P T T 98 82

. TRHTY] TR - W qUT ] B S-T Dl S
11. GOH RS — WIeH| & T-AT

Options :

1. % Had

2. % Had I

3. % [ UGl

4. AT

Question Number : 53 Question Id : 5406266484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not correct about image formation by a concave mirror?



I. Object at C, image at C, same sized image
II. Object at F, image at F, highly enlarged image
II1. Object at infinity, image at F, same sized image

Options :

1. ® Tand II

2. % Il and III
3. % TandIII

4. % T 1 and III

Question Number : 53 Question Id : 5406266484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{Idd Ul gRI Ufdfad & GgH § Fufeied & @ &9 a1 el 78 82

1. f§9 ¢ R, ufafee ¢ R, ufafss gmm s &1

11. foe F R, ufafss F R, ufafss srafde siftafda
111, {59 3/Fd R, ufafda F W, 98 W18 &1 ufdfse
Options :

1. ® 1qUTI

2. ¢ [T AUTIII

3. % [ YT

4, % LI dYTIII

Question Number : 54 Question Id : 5406266485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the second most populous country of the world?
Options :

1. # Pakistan

2. ¥ India

3. % China

4. # Afghanistan



Question Number : 54 Question Id : 5406266485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey T ORI T 3HfReh SReAT aTal 3= HI 41 82
Options :

1. ® Uifhd

2. ¥ HRd

3. % 4

4. % I

Question Number : 55 Question Id : 5406266486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Niagara falls is located in

Options :

1. # Asia

2. % South Africa

3. # Africa

4. ¥ North America

Question Number : 55 Question Id : 5406266486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fromrsemug ARERI
Options :

1. % QiRm

2. % TI&UT 3TPIDT

3. % 3MBIdI

4. v IR AR



Question Number : 56 Question Id : 5406266487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the main mineral of Oceanic crust?

I. Silica
II. Magnesium

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 56 Question Id : 5406266487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & § &1 91/" TR &1 U ©1/dh T8I Wio 9w 8/g8?

1. faferam
1. ATfRrm

Options :

1. % Had 1

2. % Had Il

3. 1 AU Gl
4. % GBI

Question Number : 57 Question Id : 5406266488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following gas floats into space from exosphere?

I. Helium
II. Hydrogen
III. Oxygen



Options :

1.9 TandII

2. # Il and III
3. % Tand III

4. % I, IIand III

Question Number : 57 Question Id : 5406266488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR # 9 oI= 9 1 sfgHea F sidRa 7 avdl 672

1. Biferad

IL. B3I
11, 3T

Options :

1. 14Ul Il

2. % IIdYTIII
3. % TdYTII
4. % 1 ITdYTIII

Question Number : 58 Question Id : 5406266489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Dholavira city is/are correct?

I. It was located on Khadir Bet in the Rann of Kutch.
II. There was a Dockyard at Dholavira.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II



Question Number : 58 Question Id : 5406266489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. I8 $H<5 & 0T H WIieR d¢ IR (YT U7l
1. YTATGRT H S8 Y|

Options :

1. ¥ Had |

2. % Had Il

3. % [T I gl
4. % I

Question Number : 59 Question Id : 5406266490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Manuscripts were usually written on
Options :

1. # Stone

2. # Metal

3. % Palm leaf

4. % Paper

Question Number : 59 Question Id : 5406266490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TPy wad: R foret St ot
Options :

l. % JR

2. % YId

3. dlg UA



4. % TR

Question Number : 60 Question Id : 5406266491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who wrote the book 'Poverty and Un-British Rule in India'?
Options :

1. # Bal Gangadhar Tilak

2. ¥ Dadabhai Naroji

3. ¥ Mahatma Gandhi

4. % Jawahar Lal Nehru

Question Number : 60 Question Id : 5406266491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el TS SH-foife™r & 31 Sfear fhare fre ferd ot
Options :

1. # &1 TmeR faeiep

2. ¥ GIGIYTS -RISh

3. % HETET Mgt

4. % SdTER A 5w

General Awareness2

Group Number : 4

Group Id : 540626185
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

General Awareness2

Section Id : 540626264
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626305
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5406266492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Mughals is/are correct?

I. Babur was the first Mughal emperor.
II. Humayun defeated Sher Khan at Chausa in 1539.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 61 Question Id : 5406266492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fRafead # Q &I /8 B il & Jau H T8 8/8°

I. STeR Ugdl GiTdl GHIe ol
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Options :

1. ¥ $Had |

2. % Had Il

3. % [ QYT
4. % qEIIATR I

Question Number : 62 Question Id : 5406266493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding the Brahmo Samaj is/are correct?

I. It was formed in 1830.
II. Keshub Chunder Sen was one of the main leader of the Brahmo Sama;.

Options :

1. % Only I

2. % Only I

3. % Both I and I
4. ¥ Neither I nor II

Question Number : 62 Question Id : 5406266493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad § ¥ o 91/ YT §& 99 & J9Y 7 It 8/8?
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Options :

1. % had I

2. % Had I



R AGLIIEGI
4. % ATBIIATSIII

Question Number : 63 Question Id : 5406266494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the Civil Disobedience movement begin?
Options :

1. % 1932

2. % 1931

3. % 1929

4.+ 1930

Question Number : 63 Question Id : 5406266494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o 3fasT Sfigiad by au § Y& gaim
Options :

1. % 1932

2. % 1931

3. % 1929

4.+ 1930

Question Number : 64 Question Id : 5406266495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book "The Girl in Room 105”7
Options :

1. * Devdutt Pattanaik

2. % Ravinder Singh

3. % Chetan Bhagat

4. #* Vikram Seth



Question Number : 64 Question Id : 5406266495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I ‘G Td 39 % H 105> & GD DI 62
Options :

1. % qgad Ugg®

2. % e Rig

3. ¢ I WA

4. % fahH 93

Question Number : 65 Question Id : 5406266496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organisation is responsible for publishing Global Social Mobility Index?
Options :

1. # Intellectual Property Organization

2. # World Trade Organisation

3. ¥ World Economic Forum

4. # International Monetary Fund

Question Number : 65 Question Id : 5406266496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FeaIag3Hd Ul SRHISOIRM

2. % IS ¢S HNHISOIRM

3. ¥ 908 SHAIND BIRY

4. % YA A B



Question Number : 66 Question Id : 5406266497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has passed a world-first law aimed at making Google and Facebook pay for news content on their platforms.
Options :
1. ¥ Australia
2. % Germany
3. * France
4. % Russia

Question Number : 66 Question Id : 5406266497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ ficler

2. % S

3. % Y

4, % =Y

Question Number : 67 Question Id : 5406266498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has purchased Big Bazar?

Options :

1. % TATA

2. ¥ Reliance

3. ¥ Aditya Birla Group

4. # Adani Holdings Limited

Question Number : 67 Question Id : 5406266498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
T IR forem wde 22

Options :

1. #® <IcT

2. ¢ Rardg

3. % 3ifc faRen gu

4. % IS gifcgw ferfres

Question Number : 68 Question Id : 5406266499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country withdrew from the European Union on 31 January 20207?
Options :

1. # Austria

2. ¥ United Kingdom

3. % Latvia

4. % Estonia

Question Number : 68 Question Id : 5406266499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 SHAR 2020 B R T J DI 91 < Fovat T
Options :

1. % iR

2. ¥ gARCE fhiren

3. ® qrefaan

4. % QAT

Question Number : 69 Question Id : 5406266500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



launches '"Meri Saheli' initiative for women.
Options :
1. # India Post
2. # Indian Navy
3. % Indian Railways
4. # Indian Army

Question Number : 69 Question Id : 5406266500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ Arfgdrell & fg B wedl Ugd Y= Bl g
Options :

1. % YR STh

2. % YR AT

3. ¢ HRA”G X

4. % YRR T

Question Number : 70 Question Id : 5406266501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India has signed an MOU with which country to build the Shahtoot dam?
Options :

1. ¥ Afghanistan

2. % Iran

3. % Maldives

4. ¥ Nepal

Question Number : 70 Question Id : 5406266501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR A o <=1 o 1Y Xeqd a1 -1 & g TH. 3T, g, TR gaer fhu g2

Options :




1. ¢ BT
2. %

3. % Odcid

4. % qUrq

Question Number : 71 Question Id : 5406266502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country joined the 'Five Eyes' network in December 20207
Options :

1. # China

2. % India

3. % Japan

4. # Germany

Question Number : 71 Question Id : 5406266502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 SR fEaR 2020 T 13T S Aegd H QT g3
Options :

1. % 9

2. % YRd

3. % U+

4. % SEAT

Question Number : 72 Question Id : 5406266503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which rare mineral has been found in Antartic ice?
Options :

1. ¥ Jarosite



2. % Jermisite
3. #* Hitsite
4. % Palesite

Question Number : 72 Question Id : 5406266503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gerfds 9 | S IqT oy Wil uraT T 82
Options :

1. ¥ SRIGISC

2. % SHiAEe

3. % fgearse

4. % USNIRC

Question Number : 73 Question Id : 5406266504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Through which constitutional amendment part IV A was inserted in the Indian constitution?
Options :

1. ¢ Forty second

2. # Tenth

3. % First

4. # Twenty seventh

Question Number : 73 Question Id : 5406266504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TauTd =N & GRTUNT IV A BT YR Jfdem & afeferd far i um
Options :

1. ¢ SaTcrgai

2. % qd



3. % Ty
4. % gargqdi

Question Number : 74 Question Id : 5406266505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with Right to Education?
Options :

1. % 21

2. % 24

3.921 A

4, % 28

Question Number : 74 Question Id : 5406266505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WA BT DI AT Sfase fRIg & SGR I Jafdd 82
Options :

1. *= 21

2. % 24

3.921 A

4. = 28

Question Number : 75 Question Id : 5406266506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following state legislature has two houses?

I. Karnataka
II. Kerala

Options :
1. % Only I



2. % Only II
3. # BothIand II
4. % Neither I nor II

Question Number : 75 Question Id : 5406266506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o I Ig & fyrHsa § S 9ed 82

L. HlcH
1. B

Options :

1. Hadl

2. % Had I

3. % [ QU Gl
4. % G IATBIII

Question Number : 76 Question Id : 5406266507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following subjects are mentioned in the Union list of the Indian constitution?

I. Treasure Trove
II. War and Peace
[1I. Insurance

Options :

1. ® Tand II

2. % Il and III
3. # Iand III

4, % I, 1I and III

Question Number : 76 Question Id : 5406266507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1GYT1I

2. ¥ AU
3. % 1dUTHI

4, % LI dYTIII

Question Number : 77 Question Id : 5406266508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following team was one of the semi-finalists in 2018 FIFA World Cup?
Options :

1. ¥ England

2. % Brazil

3. ¥ Germany

4. ® Ttaly

Question Number : 77 Question Id : 5406266508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 1T 3y U H FAfaRad # 3 & O 31 Ue JeiwAmre ¥
Options :

1. ¥ s

2. % ol

3. % ST

4. % 3ol



Question Number : 78 Question Id : 5406266509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which team won the Pro Kabaddi League 2019?
Options :

1. ¥ U Mumba

2. % Bengaluru Bulls

3. % Dabang Delhi K. C.

4. ¥ Bengal Warriors

Question Number : 78 Question Id : 5406266509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ul pag! @il 2019 fobd S A Sitar
Options :

1 ® gha

2. % JUIS g

3. % qoT foecdt . 4.

4. STE AIRTH

Question Number : 79 Question Id : 5406266510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following team is part of ISL 2020-21?

I. East Bengal
II. Odisha FC

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 79 Question Id : 5406266510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. 3% S
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Options :

1. % PHad I

2. % HAdII

3. ¢ [ AU Gl
4. % A A

Question Number : 80 Question Id : 5406266511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sports — sportsperson is correct?

I. Badminton — Manika Batra
II. Table Tennis — Mouma Das

Options :

1. ® Only I

2.% Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 80 Question Id : 5406266511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. HAA Il

3. % [ QYT I gHl

4. % FAIATAI

Arithmetic Abilityl

Group Number : 5

Group Id : 540626186
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetical and Numerical ability1

Section Id : 540626265
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1

Sub-Section Id : 540626306



Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5406266512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 1 1 1 1 ]
What 1s the value of ——+ -t —p= — o i P
\.—"1-5' + ufg i JE. f wfli_:i \.'{T & \3'5 \.—'I?J : w"'; S w4 + \,-J:'i

Options :
1. % V95
2. % 4
3.9 1
4. % \9_2

Question Number : 81 Question Id : 5406266512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 1 1 1 1
R e e L e
Options :
1. % \9_5
2. % 4
3.9 |
4. % \9_2

Question Number : 82 Question Id : 5406266513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?



1
[, —#——%

: =1110
0.1 0.01 0.001

I1. J0.09 + J0.0016 = 0.034

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. % Neither I nor IT

Question Number : 82 Question Id : 5406266513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad # 3 &1 /8 HyF 98! 8/8?

1 1 0
[—#+——+
0.1 0.01 0.001

=1110

I +/0.09 +4/0.0016 = 0.034

Options :

1. Hadl
2. % Had I
3. % [QUT ISl
4. % GBI

Question Number : 83 Question Id : 5406266514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the set of first 100 natural number all the even numbers are removed. What is the sum of all the remaining numbers?
Options :



1. ¥ 2500
2. % 2501
3. % 2000
4. % 2100

Question Number : 83 Question Id : 5406266514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tgl 100 Wi sl & e §, Tt a0 Twensit &1 ger four Smar 8 | 2w it TRenaft &1 3wt 1 g2
Options :

1. ¥ 2500

2. % 2501

3. % 2000

4. % 2100

Question Number : 84 Question Id : 5406266515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3
—_— = e W=
What is the valueof 3 10 8 10 5 4 ?
21 49 3 2 6 22
$ =X

0

3 6 4 5 4 15
Options :
1. % -1863/719
2.9 -1869/719
3. % -1761/669
4. % -1401/784

Question Number : 84 Question Id : 5406266515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3710 8710 5 4 HIAFHC?
21 .49 3 2 6 22

8 6 4 9 4 15

Options :

1. * -1863/719
2.9 -1869/719
3. % -1761/669
4. % -1401/784

Question Number : 85 Question Id : 5406266516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The selling price of an article is 4160. If discount of 20 percent is given, then what will be the marked price of the article?
Options :

1. % 5000

2. % 5500

3.9 5200

4. % 5400

Question Number : 85 Question Id : 5406266516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a5 $1 faha Ged 4160 €| TfS 20 UTARIT BT e of S, O a¥g &1 Sifdd T 31 g
Options :

1. % 5000

2. % 5500

3.9 5200

4. % 5400

Question Number : 86 Question Id : 5406266517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper purchased a chair whose marked price is Rs. 1200, at two successive discount of 5 percent and 8 percent respectively. If he sells
the chair for Rs. 1206.12, then what is the profit percentage?

Options :

1. # 10 percent
2. % 15 percent
3. % 12 percent
4. % 20 percent

Question Number : 86 Question Id : 5406266517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH HTCER T HuT foradT SHfdd Jed 1200 ¥ §, B HHRT: 5 WA= a7 8 UfI=Id &t &l s g W Weied o | IS 98 Tl &l
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Options :

1. % 10 gfa=rd
2. ¥ 15 gfa=rd
3. % 12 gfazrd
4. % 20 gfaerd

Question Number : 87 Question Id : 5406266518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average height of two men A and B is 165 cm. Another man C Joins them and the average height becomes 160 cm. If another man D whose
height is 15 cm more than that of C replaces A, then the average height of B, C and D becomes 155 cm. What is the height of A?

Options :

1. ¥ 180 cm
2. % 198 cm
3. % 172 cm
4. % 185 cm



Question Number : 87 Question Id : 5406266518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 180 9.1,

2. % 198 A

3.% 1723

4. % 18599

Question Number : 88 Question Id : 5406266519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 10 percent of 500 is 25 percent more than P, then what is the value of P?
Options :

1. * 39

2. % 38

3.9 40

4. % 41

Question Number : 88 Question Id : 5406266519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 500 BT 10 UfA=Id, P & 25 UfA=Id $4fF &, P BT AF 152
Options :

1. ® 39

2. % 38

3.9 40

4. % 41



Question Number : 89 Question Id : 5406266520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of a bus is firstly decreased by 30 percent and then increased by 50 percent. What is the percentage increase in the price of bus?
Options :

1. # 10 percent

2. % 5 percent

3. % 15 percent

4. % 20 percent

Question Number : 89 Question Id : 5406266520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH o9 ! HIId A U 30 UfA=Td &1 w4t B 718 § 9uT fthR 50 Ufa=rd &1 3 &1 718 8| 9 &1 HiHd A fan ufawad &1 gfs g8 82
Options :

1. % 10 Yfd=rd

2. ¢ 5 GfcRId

3. % 15 Gfc=rd

4. % 20 yfa=rd

Question Number : 90 Question Id : 5406266521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of a pen is 150 percent more than the price of a copy. Price of a copy is 60 percent less than the price of a pencil. If price of 10 pencils Rs.
3000, then what is the price of 6 pen?

Options :

1. * Rs. 2100
2. ® Rs. 1200
3. ¥ Rs. 1500
4. ¥ Rs. 1800

Question Number : 90 Question Id : 5406266521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS O &1 Hed, U hidt & Hed F 150 Tia=rd 31 81 T HIdl &1 Hed, Teb IR & Geu F 60 Ufa=rd 4 g1 3 10 TRIA &1 9ed 3000
¥UA B, Al 6 U T o &1 52

Options :

1. % 2100 300
2. % 1200 39T
3. % 1500 39U
4. ¥ 1800 3T

Question Number : 91 Question Id : 5406266522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election between 2 candidates, Ajay gets 60 percent votes of the total valid votes. If total votes are 25000 and 25 percent of the total votes
are declared invalid, then other candidate Amit will get how much valid votes?

Options :
1. % 7200
2. % 7400
3. % 7000
4. % 7500

Question Number : 91 Question Id : 5406266522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& STHiGaR! & &g §U TS IATd H, 3ord &1 Hdl A= Tl & 60 UfA=rd Ad fied € | afe o 7d 25000  TUT HA Tl & 25 UfA=Id &
3T T o S &, Al e ITGaR Siiid & fova- A= 7 i

Options :
1. % 7200
2. % 7400
3. % 7000
4.+ 7500




Question Number : 92 Question Id : 5406266523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is purchased for Rs. 6500 and sold for Rs. 5600. What is the loss percentage?
Options :

1. # 17.88 percent

2. ¥ 13.84 percent

3. % 16.07 percent

4. % 15.66 percent

Question Number : 92 Question Id : 5406266523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH G B 6500 ST T WIS AT TUT 5600 FUT H o1 STl § | BT Uf=rd o1 82
Options :

1. % 17.88 Ufcrd

2. ¢ 13.84 Ufa=rd

3. % 16.07 Ufa=rd

4. % 15.66 Uf=rd

Question Number : 93 Question Id : 5406266524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of selling price to the cost price is 8 : 7. What is the profit percentage?
Options :

1. ¥ 14.28 percent

2. % 15.56 percent

3. % 16.66 percent

4. % 13.25 percent

Question Number : 93 Question Id : 5406266524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

(4o Yot &1 0 Hed I S{0Td 8 : 7 8 | AT Uf=rd &1 82
Options :

1. ¢ 14.28 Ufa=Id
2. % 15.56 Ufa=rd
3. % 16.66 Ufa=rd
4. % 1325 gfawrd

Question Number : 94 Question Id : 5406266525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of cost price of first, second and third bottle is 5 : 7 : 8 respectively. If first bottle is sold at 20 percent profit, second at 20 percent profit
and the third at 20 percent loss, then what is the overall profit/loss percentage?

Options :

1. # 3.5 percent loss

2. # 5.66 percent profit
3. ¥ 4 percent profit

4. # 6.66 percent loss

Question Number : 94 Question Id : 5406266525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, QORI T st Sidd o o Yoo BT 30T HHRT: 5 : 7 : 8 81 TG Tgel SIdd Bi 20 U= & A1y TR g™l I 20 Wia=id & a4 R
YT T BT 20 Uf=Td &1 g1 OR o1 T &, O pd ArH/aTH fa=id a1 g2

Options :

1. ® 3.5 gfaerd g1+
2. % 5.66 Ufa=Id a1y
3. ¢ 4 Ofa=rd oy

4. % 6.66 Ufa=rd g1iA

Question Number : 95 Question Id : 5406266526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Ifx:y=1:2, then What is the value of (3x +y)/(3x —y)?
Options :

1. % 3/2

2. % 5/4

3.%3

4.5

Question Number : 95 Question Id : 5406266526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e x:y=1:28, A Gx+y)(3x—y) DT HAE T G?
Options :

1. % 372

2. % 5/4

3.%3

4. ¥ 5

Question Number : 96 Question Id : 5406266527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfP:Q:R=1:2:3andR:S=2:3, then whatis P: S?
Options :

1. % 2:
2.9 2
3.% 5
4. % 6

~N 9 O

Question Number : 96 Question Id : 5406266527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gREP:Q:R=1:2:3AYTR:S=2:38, A P:STT&?



Options :
1. % 2:
2.9 2
3.% 5
4. % 6

~N 9 O

Question Number : 97 Question Id : 5406266528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amar, Ritesh and Karan start a partnership. They invested Rs. 25000, Rs. 15000 and Rs. 5000 respectively. The stayed in partnership for 2
months, 5 months and 3 months respectively. If total profit is Rs. 168000, then what is the combined share of Amar and Karan in the profit?

Options :

1. ¥ Rs. 78000
2. % Rs. 108000
3. # Rs. 90000
4. % Rs. 68000

Question Number : 97 Question Id : 5406266528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R, TR U X U ATeIaR] & B g | 9 HAT: 25000 U, 15000 FYY TUT 5000 ¥T AR HRd & | d HARE: 2 AlgH, 5 Al a1 3
Afg WRIER] H X8 | afd d A1 168000 ¥ §, T ATH T SR TUT 3 BT Agad o 31 g2

Options :

1. ¢ 78000 3T
2. % 108000 ¥TY
3. % 90000 3T
4. % 68000 3T

Question Number : 98 Question Id : 5406266529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P and Q enter into a partnership and invested Rs. 5000 and Rs. 6000 respectively in the business. After 10 months, Z also joins the business with



an investment of Rs. 36,000. After one year, they earn a the profit of Rs. 2448. What is the profit share of Q?
Options :

1. # Rs. 574

2. ¥ Rs. 864

3. # Rs. 994

4. % Rs. 784

Question Number : 98 Question Id : 5406266529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P dYT Q A U ATGR] H Ua=T fohdl a1 admg H HHT: 5000 $9T TUT 6000 T A= fard | 10 Ao d1g z it a9 7 36000 TUT &
321 & Ty e 81 STaT 8 1 U 9 UYTd I5iA 2448 TUY Y HHT| Q BT TH T foqn 1 82
Options :

1. % 574309
2. ¢ 864 %04
3. % 994 ¥0Y
4. % 784 39Y

Question Number : 99 Question Id : 5406266530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum of money amounts to Rs. 2750 in 3 years and Rs. 2875 in 3.5 years at simple interest. What is the rate of interest per annum?
Options :

1. # 15.75 percent

2. % 12.5 percent

3. % 18.75 percent

4. % 17.5 percent

Question Number : 99 Question Id : 5406266530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U FAfa I YR <1 B e T 3 Iuf | 2750 TUT TUT 3.5 I8 H 2875 TYY 81 STl § | Ul I ST 1 &2 T 82



Options :

1. % 15.75 gfard
2. ¢ 12.5 Ufa=d
3. % 18.75 Ufa=rd
4. % 17.5 gfa=rd

Question Number : 100 Question Id : 5406266531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 10000 is kept at the rate of 40 percent per annum on compound interest (compounded half yearly). What is the compound interest after 12
months?

Options :

1. % Rs. 4700
2. ¥ Rs. 4400
3. ¥ Rs. 4950
4. % Rs. 4320

Question Number : 100 Question Id : 5406266531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10000 T BT 40 =TT Ul T @t &R F Thdfe ST (3refaniier TaoH UR) IR @ TR B | 12 g §IG Tshdig saTol a1 82
Options :

1. ® 4700 $9Y

2. ¥ 4400 3T

3. % 4950 3UY

4. % 4320300
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Question Shuffling Allowed :

Question Number : 101 Question Id : 5406266532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The difference between simple interest on a certain sum at the rate of 9 percent per annum for 6 years and 7 years is Rs. 63. What is the sum?

Options :

1. # Rs. 710
2. % Rs. 700
3. # Rs. 690
4. * Rs. 650

Arithmetical and Numerical ability2
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Question Number : 101 Question Id : 5406266532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A I w9 ufawrd &) aftfes G 6 a8 auT 7 I8 & WIYRUT AT BT 3R 63 T ¢ | AR 182
Options :

1. % 710 390

2. 700 304

3. % 690 3YY

4. % 650 30

Question Number : 102 Question Id : 5406266533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between simple interest and compound interest (compounding of interest is done yearly) on a certain sum of money for 2 years at
interest rate of 50 percent per annum is Rs. 2225. What is the value of sum?

Options :

1. % Rs. 10000
2. % Rs. 8800
3. ¥ Rs. 8900
4. % Rs. 9000

Question Number : 102 Question Id : 5406266533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A emRIRT 50 wfa=rd wfday &1 <o <X § 2 I8 & QYR ST TUT Ahgfg STl (STl 1 HaIoH alyd [T SIdl §) & A $fa’
2225 ¥ § | 4RI BT A &1 82

Options :

1. % 10000 3T
2. % 8800 TUY
3. ¢ 8900 $UY
4. % 9000 3UY




Question Number : 103 Question Id : 5406266534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Mahesh runs at the speed of 12 km/hr and crosses a bridge in 5 minutes, then what is the length of the bridge?
Options :

1. % 1500 metres

2. % 1000 metres

3. % 1250 metres

4. % 1100 metres

Question Number : 103 Question Id : 5406266534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 7R 12 fop 1 /et &1 1 ¥ Sredl § U1 Ue Gd &1 5 fiFe B uR e A ], ) Id &1 avals o1 82
Options :

1. % 1500 Hiex

2. ¥ 1000 Hicx

3. % 1250 Hlcx

4. % 1100 Wi

Question Number : 104 Question Id : 5406266535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One third of a certain journey is covered at the speed of 26 km/hr, one fourth at the speed of 39 km/hr and the rest at the speed of 65 km/hr. What
will be the average speed for the whole journey?

Options :

1. # 45 km/hr
2. % 39 km/hr
3. % 32 km/hr
4. % 48 km/hr

Question Number : 104 Question Id : 5406266535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS I 1 U fagTe U 26 fob it eieT ot 71fd @, Tp-nutg 1T 39 fob it eier ot 71fd @ U1 QW T 65 75 1t /gt o6t 7ifa @ faa
ST € | 931 I o o sfvd Tif o g

Options :

1. % 45 fop H} /der

2. ¢ 39 o wit et

3. % 32 fo H} der

4. % 48 foo 7t /e

Question Number : 105 Question Id : 5406266536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two stations P and R are 570 km apart from each other. A train leaves from P to R and simultaneously another train leaves from R to P. Both
trains meet after 19 hours. If the speed of the first train is 4 km/hr more than the second train, then what is the speed of the slower train?

Options :

1. ® 11 km/hr
2. % 13 km/hr
3. # 19 km/hr
4, % 17 km/hr

Question Number : 105 Question Id : 5406266536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QI LR P AYTR Th G A 570 b . 1 g8 )R § 1 Tep YS! P Y R & 7T URIH il 8 dUT I THY Ueb 3 IehTS! R A P & forg

%ﬁ?ﬂ%%l 19 °< o TYT GIFI XaTi Sl e g | afe gl YerTme! o1 T1fd guRt Yerma! ¥ 4 fob. 1t /dier 3ifdies §, ot efieft areft Yamet
12

Options :

1. % 11 fo W der

2. ¢ 13 b dt et

3. % 19 fo Hlder

4. % 17fe At Ae



Question Number : 106 Question Id : 5406266537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P alone can make a table in 10 days while Q alone can make it in 15 days. Q started the and worked for 7.5 days. In how many days P can finish
the remaining work?

Options :

1. # 12 days
2. % 8 days
3. % 5 days
4. % 7 days

Question Number : 106 Question Id : 5406266537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 31l U Aol 10 fal & a1 Wbl 8, STafdh Q a1 I 15 &= & &1 YhaT 81 Q BT b1 Y31 Rl § YT 7.5 f&T b 1 ol
g1 P RN BT fban el & OR1 X Favel 57

Options :

1. % e

2. % gfeq

3. ¢ 5faq

4. % 71T

Question Number : 107 Question Id : 5406266538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amit is two times as efficient as Sumit. Amit can complete a work in 40 days less than Sumit. If both of them work together, then in how many
days will work be completed?

Options :

1. # 70/3 days
2. # 50/3 days
3. ¥ 80/3 days



4. % 40/3 days

Question Number : 107 Question Id : 5406266538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%@H%mﬁwm%l 3T T B YT I 40 371 HH HR Tha g1 TS G| HAPR 39 BT Bl B 6, al B foba A1
T ?

Options :

1. % 70/3 &
2. % 50,3 faq
3.+ 80/3 faa
4. % 403 fa7

Question Number : 108 Question Id : 5406266539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gaurav, Himanshu and Prateek together can complete a work in 34 days. Efficiency of Gaurav is 4 times of Himnashu and efficiency of Prateek
is 5 times of Himanshu. How many days Prateek alone will take to complete this work?

Options :

1. # 70 days
2. ¥ 68 days
3. % 72 days
4. % 81 days

Question Number : 108 Question Id : 5406266539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR, feuig] auT Ui fHeeR U &1 &1 34 fal H Q1 R abd & | 7IRA 1 SIS A B IR THI & TUT Ul Bt HRIGRISA
fRAT &1 Ora T 8 | Uchieh 3ihall 39 &1 &I B | foha & T

Options :

1. % 70fea

2. ¢ 68 fa




3. % 72faq
4, % g1 feq

Question Number : 109 Question Id : 5406266540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes A and B can fill an empty tank in 10 hours and 15 hours respectively. Pipe C can empty the completely filled tank in 12 hours. Firstly
both pipes A and B are opened and after 5 hours pipe C is also opened. What is the total time in which the tank will be filled?

Options :

1. * 9 hours
2. # 8 hours
3. %* 7.5 hours
4. ¥ 7 hours

Question Number : 109 Question Id : 5406266540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G OTSU A 4T B U ATall ¢! Bl HHRT: 10 S TUT 15 8¢ T HR Tohd ¢ | UIY C Th AUl &0 Y I §5 ¢! Dl 12 °e H WTell R el g |
EY TS GIHl UIsU A TUT B ST WIel 71 4T 5 6¢ 916 UIsy C B+t T 71| <ot o o § WR St

Options :

1. % 9%¢

2. % gdc

3. % 7549

4. ¢ 74C

Question Number : 110 Question Id : 5406266541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two cubes each of edge 5 cm are joined to form a single cuboid. What is the total surface area of the cuboid formed?
Options :

1. ¢ 250 cm?

2. % 325 cm?



3. % 300 cm?
4, ® 225 cm?

Question Number : 110 Question Id : 5406266541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& O, oMt U YT 5 S, 8, DI SSHR U gAY F11 Of1dll & | -1 T4 O HT il 81T &0 dl ol 57

Options :

1. ¢ 250 9.1 2
2. % 32592
3. % 300 9.4 2
4. % 2259112

Question Number : 111 Question Id : 5406266542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of curved surface area of two cones is 1 : 8 and the ratio of their slant heights is 1 : 6. What is the ratio of the radius of the two cones?
Options :

1.¥3:4
2.%2:5
3.% 4:5
4. % 5.7

Question Number : 111 Question Id : 5406266542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l X3t & g YEIT & BT U | : 8 § AT 3! fadds SHarsal &1 3UTd 1 : 6 81 T Wil Bt FHsar &7 rurd 31 82
Options :

1.¥3:4

2.%2:5

3.% 4:5




4, % 5.7

Question Number : 112 Question Id : 5406266543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two identical circles each of radius 4 cm intersect such that the circumference of each one passes through the centre of the other. What is the area
of the intersecting region?

Options :

1. ¢ (321/3) — (8V3) cm?
2. % (46m/2) — (8V3) cm?
3. % (251/4) — (792) cm?
4. % (281/3) — (9V3) cm?

Question Number : 112 Question Id : 5406266543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& I gd o0 Ul & Asar 4 Q.11 ], T TR &l 39 UHR Ufdwde o3d & [ 390 4 IS o1 IR Th R & o § gla
ToRd! 8 | UidwdTad & &1 &t ol 6

Options :

1. ¥ (321/3) — (8V3) W.H1.2
2. % (46m/2) — (8V3) W.HI 2
3. % (251/4) — (7TV2) §H 2
4. % (287/3) — (9V3) T.H12

Question Number : 113 Question Id : 5406266544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylindrical well of height 40 metres and radius 35 metres is dug in a 280 metres long and 140 metres wide field. The earth taken out is spread
evenly on the field. What is the increase in the level of the field?

Options :
1. #* 413/97 metre
2. % 440/101 metre



3. % 216/71 metre
4, % 48/17 metre

Question Number : 113 Question Id : 5406266544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

280 Hiex dd T 140 Hex A1 Wd T TP 40 Hex SHam 9T 35 Hiex o1 a1 SaIHR $U &1 W@ial T4 8 | $U I FaTa 18 fHgt o1 @d
A U UM ¥ J BAr T g | Bd BT TR B S| g1 S

Options :

1. % 413/97 Wi}

2. ¢ 440/101 Bl

3. % 216/71 HIR

4, % 48/17 HieR

Question Number : 114 Question Id : 5406266545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the weight of 5 different persons.

Person | Weight
“P1 | 105 |
P2 73
P3 58
P4 81
P5 32

The total weight of P1, P3 and P5 is how much more than the total weight of P2 and P4?
Options :
1. ¥ 41



2. % 43
3. % 39
4, % 37

Question Number : 114 Question Id : 5406266545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 & it arferepT 5 fafre safaaal & UR &l g=iidl gl

Ffed | AR
P1 105
P2 73
P3 58
P4 81
P5 32

P1, P3 YT PS5 &1 1 HR, P2 TUT P4 & Hdl YR I farcT 31feep g2
Options :

1. ¥ 41
2. % 43
3. % 39
4. % 37

Question Number : 115 Question Id : 5406266546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of hospitals in 6 different cities.



City Hospitals
C1 5200
c2 2800
C3 3750
4 4200
C5 3800
Ca 3600

What is the ratio of total number of hospitals in C1 and C4 to the number of hospitals in C3?
Options :

1. % 112:47

2.9 188:75

3. % 212:83

4. % 165:63

Question Number : 115 Question Id : 5406266546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & it anferent 6 fafts wreRl & srudrel ot T B gt 8




BT 3T
Cl 5200
C2 2800
C3 3750
C4 4200
C5 3800
C6 3600

C1 YT C4 & G STl &1 TS BT C3 & STl o1 T § T U ]2
Options :

1. % 112:47

2. 188 :75

3. % 212:83

4. % 165:63

Question Number : 116 Question Id : 5406266547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of runs scored in 8 different innings by a batsman. The runs are shown as percentage of total runs
scored by the batsman in these 8 innings.



If the total runs scored in IS5 and 17 are 182, then what are the total runs scored by the batsman in these 8 innings?
Options :
1. ¥ 700
2. % 800
3. % 750
4. % 850

Question Number : 116 Question Id : 5406266547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fean mar urE ot U Sectarst R 8 fafia g H S U XA Bt WRe ®l SRTd1 g | X1 B 39 8 ST & ot 31 bl e & A=
& ¥ H gRIa T g



g 15 AT 17 H 910 U ol X1 b1 BT 182 B, Al 31 8 3 B Ieaiaol gRT S T Hd A1 1 T o1 87
Options :

1. ¥ 700
2. % 800
3. % 750
4, % 850

Question Number : 117 Question Id : 5406266548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the amount of snowfall on 6 days of a week.



Amount of Snowfall

DI D2 D3 D4 D5 D6
Days

What is the average per day snowfall on the given 6 days?
Options :

1. % 245

2.9 2583

3. % 23.66

4. % 2133

Question Number : 117 Question Id : 5406266548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=it fegm T X 7 U 8 & 6 fall H SthaRt &t AT Bl G=id 8|



DI D2 D3 D4 D5 D6

few g 6 fott 7 ifer o ot shart @ &2
Options :
1. % 245
2.9 2583
3. % 23.66
4. % 2133

Question Number : 118 Question Id : 5406266549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given below shows the number of plants in 5 different houses.



10

Number of Plants

H1 H2 H3 H4 H35
Houses

What is the ratio of number of plants in H1 to the average number of plants per house?
Options :

1. % 65:37

2. % 42:29

3.960:43

4. % 55:39

Question Number : 118 Question Id : 5406266549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fear mar gus e 5 faftre =i A el ot T Y ewfdr g |



10

gtet fr gEar
|

H1 H2 H3 H4 H5
[2E8

H1 ¥ el &1 T b1 it oR Uil bl Sflel e & &1 3FUTdl &7
Options :

1. % 65:37

2. % 42:29

3.¥60:43

4. % 55:39

Question Number : 119 Question Id : 5406266550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of cars and bikes in 5 different towns.



Tl T2 T3 T4 T5

—e—(Cars --» Bike

A = Average number of cars per town.
B = Average number of bikes per town.

What is the value of 2A + B?
Options :
1. % 2115
2. % 2246
3. % 2389
4, ¥ 2514

Question Number : 119 Question Id : 5406266550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 2115
2. % 2246
3. % 2389
4. ¥ 2514

Question Number : 120 Question Id : 5406266551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given below shows the number of bottles and lunches of 5 different colours.
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Rl R2 R3
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-
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Which of the following statement is correct?

I. Bottles of colour R1 are 20 percent more than lunches of colour of RS.

II. Lunches of colour R3 is 15 percent less than the number of bottles of colour R4.

III. Per colour average number of lunches are 30 less than the per colour average number of bottles.

Options :

1. # Tand II

2. % Il and III
3. % Tand III

4, 1,11 and 11T

Question Number : 120 Question Id : 5406266551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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English Language & Comprehensionl

Section Id : 540626267
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626308
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5406266552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Either his parents or I (1)/ are going to (2)/ the ring ceremony. (3)/ No error (4)
Options :

1. # Either his parents or |

2. % are going to

3. ® the ring ceremony.

4. % No error

Question Number : 121 Question Id : 5406266552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Either his parents or I (1)/ are going to (2)/ the ring ceremony. (3)/ No error (4)



Options :

1. # Either his parents or I
2. ¥ are going to

3. % the ring ceremony.

4. ® No error

Question Number : 122 Question Id : 5406266553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Human infants gain (1)/ beneficial microbes (2)/ of breastfeeding. (3)/ No error (4)
Options :

1. #* Human infants gain

2. % beneficial microbes

3. ¢ of breastfeeding.

4. % No error

Question Number : 122 Question Id : 5406266553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Human infants gain (1)/ beneficial microbes (2)/ of breastfeeding. (3)/ No error (4)
Options :

1. * Human infants gain

2. # beneficial microbes

3. ¥ of breastfeeding.

4. % No error

Question Number : 123 Question Id : 5406266554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Many teachers have reported (1)/ that a lot of kids are absent (2)/ of the online classes. (3)/ No error (4)
Options :

1. % Many teachers have reported

2. # that a lot of kids are absent

3. % of the online classes.

4. % No error

Question Number : 123 Question Id : 5406266554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Many teachers have reported (1)/ that a lot of kids are absent (2)/ of the online classes. (3)/ No error (4)
Options :

1. ¥ Many teachers have reported

2. * that a lot of kids are absent

3. ¥ of the online classes.

4. % No error

Question Number : 124 Question Id : 5406266555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Every year I spend (1)/ the summer with (2)/ thousand of native birds. (3)/ No error (4)
Options :

1. # Every year I spend

2. # the summer with

3. % thousand of native birds.

4, % No error



Question Number : 124 Question Id : 5406266555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Every year I spend (1)/ the summer with (2)/ thousand of native birds. (3)/ No error (4)
Options :

1. # Every year I spend

2. # the summer with

3. % thousand of native birds.

4. % No error

Question Number : 125 Question Id : 5406266556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

More studies are needed to (1)/ explore the diversity of microorganisms (2)/ and the links between it. (3)/ No error (4)
Options :

1. % More studies are needed to

2. % explore the diversity of microorganisms

3. ¢ and the links between it.

4. % No error

Question Number : 125 Question Id : 5406266556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

More studies are needed to (1)/ explore the diversity of microorganisms (2)/ and the links between it. (3)/ No error (4)
Options :
1. # More studies are needed to

2. % explore the diversity of microorganisms



3. % and the links between it.

4. % No error

Question Number : 126 Question Id : 5406266557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

(Neither your brother nor) my mother is ready to accept the theory.
Options :

1. # None your brother nor

2. % Neither your brother or

3. # Neither of your brother

4. ¥ No improvement

Question Number : 126 Question Id : 5406266557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

(Neither your brother nor) my mother is ready to accept the theory.
Options :

1. % None your brother nor

2. % Neither your brother or

3. # Neither of your brother

4. ¥ No improvement

Question Number : 127 Question Id : 5406266558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

I have been trying to call you (since morning).



Options :

1. # for morning

2. # on morning

3. % from the morning

4. ¥ No improvement

Question Number : 127 Question Id : 5406266558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

I have been trying to call you (since morning).
Options :

1. % for morning

2. % on morning

3. # from the morning

4. ¥ No improvement

Question Number : 128 Question Id : 5406266559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

Sequencing requires a (larger numbers of) samples and it is a time-intensive process.
Options :

1. ¥ large number of

2. % largest of number

3. % larger numbers for

4. % No improvement

Question Number : 128 Question Id : 5406266559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

Sequencing requires a (larger numbers of) samples and it is a time-intensive process.
Options :

1. ¥ large number of

2. % largest of number

3. % larger numbers for

4. ¥ No improvement

Question Number : 129 Question Id : 5406266560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

Ryan (hanged up) the phone and chewed his lip in thought.
Options :

1. ¥ hung up

2. % hang on

3. * hanged off

4. % No improvement

Question Number : 129 Question Id : 5406266560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

Ryan (hanged up) the phone and chewed his lip in thought.
Options :

1. ¥ hung up

2. # hang on

3. # hanged off

4. ¥ No improvement



Question Number : 130 Question Id : 5406266561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Machinery is still the main of serious injuries.

Options :
1. * way
2. ¥ cause
3. % rise
4. % effect

Question Number : 130 Question Id : 5406266561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Machinery is still the main of serious injuries.

Options :
1. * way
2. ¥ cause
3. % rise
4. % cffect

Question Number : 131 Question Id : 5406266562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Solitary bees build their microbiome bacteria in their surroundings.

Options :
1. ¥ from

2. % of



3. # off

4. % for

Question Number : 131 Question Id : 5406266562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Solitary bees build their microbiome bacteria in their surroundings.

Options :
1. ¥ from
2. % of
3. % off

4. % for

Question Number : 132 Question Id : 5406266563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

After the accident, we told  that we were so lucky to be alive.
Options :

1. * themselves

2. ¥ ourselves

3. % itself

4. % oneself

Question Number : 132 Question Id : 5406266563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

After the accident, we told that we were so lucky to be alive.



Options :

1. # themselves
2. ¥ ourselves
3. % itself

4. % oneself

Question Number : 133 Question Id : 5406266564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Barely had John started dancing  the doorbell started ringing.
Options :

1. * as

2. * than

3. % when

4. * then

Question Number : 133 Question Id : 5406266564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Barely had John started dancing ~ the doorbell started ringing.
Options :

1. # as

2. # than

3. % when

4. # then

Question Number : 134 Question Id : 5406266565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Insect pollinators are for a huge proportion of plant pollination worldwide.
Options :

1. % associated

2. % maintaining

3. ¢ responsible

4. % crinkle

Question Number : 134 Question Id : 5406266565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Insect pollinators are for a huge proportion of plant pollination worldwide.
Options :

1. # associated

2. % maintaining

3. ¥ responsible

4. % crinkle

Question Number : 135 Question Id : 5406266566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Fewer than 100

P. critically endangered by IUCN
Q. are remaining, and thus the

R. finches are thought to

S. species is considered

Options :

1. ¥ RQSP

2. % SQPR



3. % QSPR
4. % QPSR

Question Number : 135 Question Id : 5406266566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Fewer than 100

P. critically endangered by IUCN
Q. are remaining, and thus the

R. finches are thought to

S. species is considered

Options :

1. ¥ RQSP
2. % SQPR
3. % QSPR
4. % QPSR

Question Number : 136 Question Id : 5406266567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Members of both gender

P. hiss and the males

Q. also give loud

R. over considerable distances
S. roars that carry

Options :

1. # RQSP
2. ¥ PQSR
3. % PRSQ
4. % SQPR



Question Number : 136 Question Id : 5406266567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Members of both gender

P. hiss and the males

Q. also give loud

R. over considerable distances
S. roars that carry

Options :

1. # RQSP
2. ¥ PQSR
3. #* PRSQ
4. % SQPR

Question Number : 137 Question Id : 5406266568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. the average lifespan of gharials is about 50 years in the wild

Q. gharials are carnivorous and live along the edges of permanent bodies of water, such as lakes, swamps, and rivers
R. however, there have been reports of some specimens living beyond 70 years of age in captivity

S. they commonly dig burrows in which they rest and avoid weather extremes

Options :

1. ¥ QSPR
2. % PSQR
3. * PQSR
4. % QPSR

Question Number : 137 Question Id : 5406266568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. the average lifespan of gharials is about 50 years in the wild

Q. gharials are carnivorous and live along the edges of permanent bodies of water, such as lakes, swamps, and rivers
R. however, there have been reports of some specimens living beyond 70 years of age in captivity

S. they commonly dig burrows in which they rest and avoid weather extremes

Options :

1. ¥ QSPR
2. % PSQR
3. ¥ PQSR
4. % QPSR

Question Number : 138 Question Id : 5406266569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Eschew

Options :

1. ¥ Dodge

2. % Revert

3. % Accompany
4. % Admire

Question Number : 138 Question Id : 5406266569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Eschew
Options :
1. ¥ Dodge



2. ® Revert
3. % Accompany
4, % Admire

Question Number : 139 Question Id : 5406266570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Feign
Options :

1. # Jab

2. ¥ Pretend
3. # Swoon

4. % Persuasion

Question Number : 139 Question Id : 5406266570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Feign
Options :

1. # Jab

2. ¥ Pretend
3. ¥ Swoon

4, % Persuasion

Question Number : 140 Question Id : 5406266571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?



Pedantic
Options :

1. # Fickle

2. ¥ Didactic
3. % Pedestrian
4. # Confuse

Question Number : 140 Question Id : 5406266571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Pedantic
Options :

1. # Fickle

2. ¥ Didactic
3. # Pedestrian
4. # Confuse
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Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



English Language & Comprehension2

Section Id : 540626268
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Number of Questions : 16
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Sub-Section Id : 540626309
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5406266572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?

Proclivity
Options :
1. ¥ Apathy
2. % Dearth
3. % Calm

4. % Desire

Question Number : 141 Question Id : 5406266572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?

Proclivity
Options :
1. ¥ Apathy



2. * Dearth
3. # Calm
4. % Desire

Question Number : 142 Question Id : 5406266573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?

Dubious

Options :

1. #* Rhythmic

2. # Careful

3. % Pleasing

4. ¥ Incontestable

Question Number : 142 Question Id : 5406266573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?

Dubious

Options :

1. # Rhythmic

2. ® Careful

3. # Pleasing

4. ¥ Incontestable

Question Number : 143 Question Id : 5406266574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. # Easilly
2. % Eazily
3. ¥ Easily
4. ® Esily

Question Number : 143 Question Id : 5406266574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Easilly

2. % Eazily

3. ¥ Easily

4. ® Esily

Question Number : 144 Question Id : 5406266575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Supplyed

2. % Supplied

3. % Suppllied

4. % Supplyied

Question Number : 144 Question Id : 5406266575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Supplyed

2. ¥ Supplied



3. ¥ Suppllied
4. * Supplyied

Question Number : 145 Question Id : 5406266576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Rellyed

2. # Rellied

3. % Relied

4. # Relyed

Question Number : 145 Question Id : 5406266576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Rellyed

2. % Rellied

3. ¥ Relied

4. #® Relyed

Question Number : 146 Question Id : 5406266577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Scurryd

2. # Scurryied

3. % Scuried

4. % Scurried



Question Number : 146 Question Id : 5406266577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Scurryd

2. % Scurryied

3. % Scuried

4. % Scurried

Question Number : 147 Question Id : 5406266578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Believabble

2. ¥ Believable

3. # Bellievable

4. % Believeable

Question Number : 147 Question Id : 5406266578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Believabble

2. ¥ Believable

3. # Bellievable

4. % Believeable

Question Number : 148 Question Id : 5406266579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

All at sea

Options :

1. # Something outstanding
2. % State of confusion

3. # Living in Luxury

4. % Forgive all

Question Number : 148 Question Id : 5406266579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

All at sea

Options :

1. # Something outstanding
2. ¥ State of confusion

3. % Living in Luxury

4. # Forgive all

Question Number : 149 Question Id : 5406266580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Bite the bullet

Options :

1. % To get someone drunk
2. % Fight with others

3. ¥ To do something unpleasant



4. # Talking nonsense

Question Number : 149 Question Id : 5406266580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Bite the bullet

Options :

1. # To get someone drunk

2. % Fight with others

3. ¥ To do something unpleasant

4. % Talking nonsense

Question Number : 150 Question Id : 5406266581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Beat around the bush

Options :

1. # Likely to happen soon

2. # Run away

3. % Avoid coming to the point
4. # Deduce from the facts

Question Number : 150 Question Id : 5406266581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Beat around the bush
Options :



1. # Likely to happen soon

2. % Run away

3. ¥ Avoid coming to the point
4. # Deduce from the facts

Question Number : 151 Question Id : 5406266582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hand over fist

Options :

1. # State of high alert

2. # Get comfortable

3. # Get panic

4. ¥ Quickly and continuously

Question Number : 151 Question Id : 5406266582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hand over fist

Options :

1. # State of high alert

2. # Get comfortable

3. # Get panic

4. % Quickly and continuously

Question Number : 152 Question Id : 5406266583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.



The person who collects stamps
Options :

1. ¥ Philatelist

2. % Notaphilist

3. % Coleopterans

4. # Scripophilist

Question Number : 152 Question Id : 5406266583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The person who collects stamps
Options :

1. ¥ Philatelist

2. # Notaphilist

3. % Coleopterans

4. % Scripophilist

Question Number : 153 Question Id : 5406266584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Life history written by oneself
Options :

1. # Biography

2. ¥ Autobiography

3. % Novel

4. % History

Question Number : 153 Question Id : 5406266584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Life history written by oneself
Options :

1. # Biography

2. ¥ Autobiography

3. % Novel

4. % History

Question Number : 154 Question Id : 5406266585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Practice of having several husbands
Options :

1. # Omnipotent

2. % Inimitable

3. # Bigamy

4. ¥ Polyandry

Question Number : 154 Question Id : 5406266585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Practice of having several husbands
Options :

1. * Omnipotent

2. # Inimitable

3. % Bigamy



4. ¥ Polyandry

Question Number : 155 Question Id : 5406266586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who knows everything
Options :

1. ¥ Omniscient

2. % Gullible

3. #* Vandal

4. % Egoist

Question Number : 155 Question Id : 5406266586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who knows everything
Options :

1. ¥ Omniscient

2. % Gullible

3. % Vandal

4. % Egoist

Sub-Section Number : 2
Sub-Section Id : 540626310
Question Shuffling Allowed : Yes

Question Id : 5406266587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.



Blood bank is an organization that collects, stores, processes, and transfuses blood. During World War I it was demonstrated that stored blood
could safely be used, allowing for the development of the first blood bank in 1932. Before the first blood banks came into operation, a physician
determined the blood types of the patient’s relatives and friends until the proper type was found, performed the cross-match, bled the donor, and
gave the transfusion to the patient. In the 1940s the discovery of many blood types and of several cross-matching techniques led to the rapid
development of blood banking as a specialized field and to a gradual shift of responsibility for the technical aspects of transfusion from practicing
physicians to technicians and clinical pathologists. The practicality of storing fresh blood and blood components for future needs made possible
such innovations as artificial kidneys; heart-lung pumps for open-heart surgery, and exchange transfusions for infants with erythroblastosis
fetalis.

Whole blood is donated and stored in units of about 450 ml (slightly less than one pint). Whole blood can be stored only for a limited time, but
various components (e.g., red blood cells and plasma) can be frozen and stored for a year or longer. Therefore, most blood donations are
separated and stored as components by the blood bank. These components include platelets to control bleeding; concentrated red blood cells to
correct anemia; and plasma fractions, such as fibrinogen to aid clotting, immune globulins to prevent and treat a number of infectious diseases,
and serum albumin to augment the blood volume in cases of shock. Thus, it is possible to serve the varying needs of five or more patients with a
single blood donation.

Despite such replacement programs, many blood banks face continual problems in obtaining sufficient donations. The chronic shortage of donors
has been alleviated somewhat by the development of apheresis, a technique by which only a desired blood component is taken from the donor’s
blood, with the remaining fluid and blood cells immediately transfused back into the donor. This technique allows the collection of large amounts
of a particular component, such as plasma or platelets, from a single donor.

Sub questions

Question Number : 156 Question Id : 5406266588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is:
Options :

1. # Blood donations

2. % How to donate blood

3. % Blood banks

4. % Shortage of blood banks

Question Number : 157 Question Id : 5406266589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the passage, what does fibrinogen help in?
Options :

1. * Correcting anaemia



2. ® Preventing infectious disease
3. ¥ Aid blood clotting
4. % Augmenting the blood volume

Question Number : 158 Question Id : 5406266590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What finding led to the swift growth blood banking as a specific field?

Options :

1. ® The discovery of safe and efficient storage system.

2. % The discovery that other components of blood can be stored for more than a year.
3. % The discovery that blood can be stored for quite a while.

4. ¥ The discovery of many blood types and of several cross-matching techniques.

Question Number : 159 Question Id : 5406266591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?
Options :

1. ¢ The first blood bank was formed in 1930.

2. % Before the first blood banks came into operation, a physician determined the blood types of the patient’s relatives and friends to give the
right transfusion.

3. # The chronic shortage of donors has been alleviated by the development of apheresis.

4. ® Apheresis allows the collection of large amounts of a particular component, such as plasma or platelets, from a single donor.

Question Number : 160 Question Id : 5406266592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the passage which word means same as “aggrandize”?
Options :

1. #® Alleviate

2. ¥ Augment

3. # Transfuses



4. % Innovation

Question Id : 5406266587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

Blood bank is an organization that collects, stores, processes, and transfuses blood. During World War I it was demonstrated that stored blood
could safely be used, allowing for the development of the first blood bank in 1932. Before the first blood banks came into operation, a physician
determined the blood types of the patient’s relatives and friends until the proper type was found, performed the cross-match, bled the donor, and
gave the transfusion to the patient. In the 1940s the discovery of many blood types and of several cross-matching techniques led to the rapid
development of blood banking as a specialized field and to a gradual shift of responsibility for the technical aspects of transfusion from practicing
physicians to technicians and clinical pathologists. The practicality of storing fresh blood and blood components for future needs made possible
such innovations as artificial kidneys; heart-lung pumps for open-heart surgery, and exchange transfusions for infants with erythroblastosis
fetalis.

Whole blood is donated and stored in units of about 450 ml (slightly less than one pint). Whole blood can be stored only for a limited time, but
various components (e.g., red blood cells and plasma) can be frozen and stored for a year or longer. Therefore, most blood donations are
separated and stored as components by the blood bank. These components include platelets to control bleeding; concentrated red blood cells to
correct anemia; and plasma fractions, such as fibrinogen to aid clotting, immune globulins to prevent and treat a number of infectious diseases,
and serum albumin to augment the blood volume in cases of shock. Thus, it is possible to serve the varying needs of five or more patients with a
single blood donation.

Despite such replacement programs, many blood banks face continual problems in obtaining sufficient donations. The chronic shortage of donors
has been alleviated somewhat by the development of apheresis, a technique by which only a desired blood component is taken from the donor’s
blood, with the remaining fluid and blood cells immediately transfused back into the donor. This technique allows the collection of large amounts
of a particular component, such as plasma or platelets, from a single donor.

Sub questions

Question Number : 156 Question Id : 5406266588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is:
Options :

1. # Blood donations

2. # How to donate blood

3. % Blood banks

4. # Shortage of blood banks



Question Number : 157 Question Id : 5406266589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, what does fibrinogen help in?
Options :

1. # Correcting anaemia

2. % Preventing infectious disease

3. ¥ Aid blood clotting

4. ® Augmenting the blood volume

Question Number : 158 Question Id : 5406266590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What finding led to the swift growth blood banking as a specific field?

Options :

1. #® The discovery of safe and efficient storage system.

2. # The discovery that other components of blood can be stored for more than a year.
3. # The discovery that blood can be stored for quite a while.

4. ¥ The discovery of many blood types and of several cross-matching techniques.

Question Number : 159 Question Id : 5406266591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?
Options :

1. ¥ The first blood bank was formed in 1930.

2. % Before the first blood banks came into operation, a physician determined the blood types of the patient’s relatives and friends to give the
right transfusion.

3. # The chronic shortage of donors has been alleviated by the development of apheresis.

4. % Apheresis allows the collection of large amounts of a particular component, such as plasma or platelets, from a single donor.

Question Number : 160 Question Id : 5406266592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the passage which word means same as “aggrandize”?
Options :

1. * Alleviate

2. ¥ Augment

3. * Transfuses

4. * Innovation
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Question Number : 161 Question Id : 5406266593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou TTQ wreg &1 WfY fawde IR
g

Options :

1.« 99 + fgd

2. % g9 +fgd

3. % gy + fgar

4, % g9 + fgar

Question Number : 161 Question Id : 5406266593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7TQ T o1 Wiy fawd ifor|
fgar

Options :

1. ¢ 9 + fgd

2. % g9+ fgd

3. % g9+ fgar

4, % g9+ fgar

Question Number : 162 Question Id : 5406266594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feam 1T Xreg; ford YR 1 WA B, 1 BifoTg|



HIg-

Options :

1. ¢ HHYRY AN
2. % 3{gUYId U
3. % g aaNg

4. % TOFY AN

Question Number : 162 Question Id : 5406266594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feam T weg fH Y YR &1 IHN 8, J1d HIfT|

T

Options :

1. ¢ HHYRY THA
2. % HIYTg AN
3. % fgau™

4. % GEY AN

Question Number : 163 Question Id : 5406266595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFuferRad & ¥ forg wree # T 70 U &1 IU-NT ot fhdT ST Jahdr?
EEg

Options :



Question Number : 163 Question Id : 5406266595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaferfad § O fog Tleg | ST 7T UTT &1 SUTNT Hol (bl o gadbdT?
D

Options :
1. % Sfig
2. % WdHId
3. % Uopld

4. 4T

Question Number : 164 Question Id : 5406266596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 70 Yo # IuE J1d BT

AR
Options :
1. % 3

2. ¢ 3fd
3. % 3{d
4. % dR

Question Number : 164 Question Id : 5406266596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 7T 2o § Il J1a BT

AR
Options :
1. % 3



2. 3fd
3, % 30d
4, % R

Question Number : 165 Question Id : 5406266597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad 7 3 oF 91 Weg Sifaaras I3 781 82

Options :

1. % 3rgHt
2. % 3UH
3. % UY]

4. gRarat

Question Number : 165 Question Id : 5406266597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed # & 91 e snfaarad I3 78l 82
Options :

1. % 3rgHt

2. % 3UH

3. % UY]

4. ¢ gRaTel!

Question Number : 166 Question Id : 5406266598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 770 9o © for g UPR & Fa-TH T IUTNT a1 71 8, JTd Hiferg|
BRI

Options :



1. % JEYdradH
2. ¢ (Aygara®
3. % gyardad

4. % arg®

Question Number : 166 Question Id : 5406266598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 770 9Ty & fr UBR & Ja-TH T IUTNT 541 7T B, JTd Hiferg|
TR

Options :

|. % QEYdID
2. ¢ Fygars
3. #® UHdlddh
4. % (ASdEID

Question Number : 167 Question Id : 5406266599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 1o & ugad faRivor 39 i

fagH safdd =0 8ld &
Options :

1. % Qro-THE fa=e
2. ¢ TUMATId AR

3. % IReHTarad ARy
4. % URATGTES AR

Question Number : 167 Question Id : 5406266599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fa 7 o § vged faRiwor 31 i
fagM fe I g §

Options :

1. % g1 fawor
2.+ T[UIATES fdRIoT

3. % TGS [A=IN0T
4. % gRUTUARIS faRIS0T

Question Number : 168 Question Id : 5406266600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1 G & 1Y fobaT S TR i 4 fobam a1t 82
Options :

1. ¢ IS

2. % FbhHb

3. % fgptis

4. % QD

Question Number : 168 Question Id : 5406266600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1 T &b 1 b F8 R o1 I foban st 82
Options :

1. ¢ AHAYD

2. % hud

3. % fgpte

4. % Qi

Question Number : 169 Question Id : 5406266601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
faU 1T drgd e BT THH =7 AT BT

3R
Options :

1. % 3fcTfcanl
2. ¢ 3MCTicTeh]
3. % 3fCIfcienl
4. % 3CIRD

Question Number : 169 Question Id : 5406266601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 71U Tred Xoc T TRIH FU 1A HITSTT|

3R
Options :

1. % 3fcTfeadl
2. ¢ 3MSIieIpl
3. % 3fcIfcipl
4. % 3CIND

Question Number : 170 Question Id : 5406266602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 77T e 1 TafTar 31 B

RER
Options :
1. # [dU]
2. % Pidd

3. 71Y]



4. % 9

Question Number : 170 Question Id : 5406266602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT T 2o 1 yHTTEE 14 BT

RER
Options :
1. % X[dU

Question Number : 171 Question Id : 5406266603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 77U <1eg 1 faeiie Wsg F1d BT
gwgrd

Options :

1. ¥ eugfd
2. % YR

3. % gugf

4. % g

Question Number : 171 Question Id : 5406266603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T 31eg &1 faeH Tse F1d BT
gwgf



Options :

1. ¢ Fugf
2. % PUgRd
3. % guqh
4. % (Augfa

Question Number : 172 Question Id : 5406266604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 g ad- &1 994 Sifod |
Options :

1. ¢ RIS

2. ® ARIPT

3. % RIP

4. % P

Question Number : 172 Question Id : 5406266604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 g ad- &1 994 Sifod|
Options :

1. ¥ RITY

2. % ARIP

3. % 3RIPA

4. % RS

Question Number : 173 Question Id : 5406266605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT T areryiRy o foTu Iferd Wsg &1 99 Hifory|




EIIENESIRIECIR
Options :

1. ¢ fobdait

2. % 3T

3. % QNI

4. % TGl

Question Number : 173 Question Id : 5406266605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U areaiw & fore Ifeid e &1 T+ Sifvig|
UIERESSIRIEEIG]

Options :

1. ¢ fobdg=t
2. % STl
3. % AT
4. % YAE=

Question Number : 174 Question Id : 5406266606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 71U 2Teq gt o1 We! Vea I J1d Hifor|
DIYA-HIA

Options :

1. % 3N BT YGRI-HRd Al
2. % fIYUIAT-3iTea BT U™

3. % P Hfod-PHRIerdl

4.« 3T BT YSR-AYUrd



Question Number : 174 Question Id : 5406266606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fU T Srec T} o1 el eg G ATd BT
PINA-BIA

Options :

1. % 31T BT UGRI-PH LI Hferd
2. % fYUTdT-SaTed BT U=

3. % PR Afdd-PHIardl

4. ¢ AT BT Y -HAYurar

Question Number : 175 Question Id : 5406266607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fw Tu are 7 Rad wH o1 g S
g S A g & H TR ¥ 3 e T

Options :
1. % PR
2. ¥ dldyq
3. % JHEUR
4. % Uiy

Question Number : 175 Question Id : 5406266607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u 7 I/ & Rad ®iFE &1 gfd Sifr|
EEXINIEIEINEEES W T 9 3w Hepd
Options :

1. ¥ DdRU



2. ¥ SIASG
3. % 3MYR

4. % Oy

Question Number : 176 Question Id : 5406266608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed Tes gl & O 19 91 eg T T8 el 2
Options :

1. ¥ GH-GY = 3[H-3PH

2. % GRAG-UGd = TG-S A

3. % HT-YIC = UIGI-IROI

4. % IgHIGD = UIST-Hgal

Question Number : 176 Question Id : 5406266608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad 2rs gl & Q o1 1 Wsg 1 T8 8l &7
Options :

1. ¢ GU-GY = 3[Ph-3Ph

2. % URIA-Uac = SGald-SfRT AT

3. % HT-HIT = YIGI-RYl

4. % IGH P = YIS1-Hgal

Question Number : 177 Question Id : 5406266609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu TTu e B e =i @t gfd S
gt 5= -3 T 3|

Options :



1. ¥ %HH
2. % HH
3. % BHIA
4. % HY

Question Number : 177 Question Id : 5406266609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 I/ & Rad ®iFE &1 gfd Sifr|
gt =g 3rgA-31aa H 3|

Options :
1. ¥ 9H
2. % HY
3. % PN
4, % oY

Question Number : 178 Question Id : 5406266610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & o T1 f3T T Ysg &1 Shieq IR WilfelT 949 a1 3, I1d Sifu|

Hlal
Options :

1. ¥ G
2. % gl

3. % AHUDh
4. % ¢idl

Question Number : 178 Question Id : 5406266610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiRad & O 17 91 QU 7T Yeg 1 g TR T o SIdT 8, 1 BT

Hlal
Options :

1. ¢ TN
2. % gl

3. % HAHUDh
4. % el

Question Number : 179 Question Id : 5406266611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TN sg BT Ifad Igaa F1d Hiol|

B

Options :
1. % TGl
2. % TS
3. ¢ TSl
4. % TS

Question Number : 179 Question Id : 5406266611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AU TN Weg T Ifard Igaa J1d HifoU|

s

Options :
1. % Tl
2. % TSy
3. ¢ Ol
4. % T




Question Number : 180 Question Id : 5406266612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed # 9 Sl a9 &1 98- S|
Options :

1. % 98 e q A dHR SAdT 5|

2. % IgiA 59 1 W MURI B 2|

3. % 7q AJIR Pt B A IRRG |

4. ¢ S8T a% gURT foaR @t U8l 8|

Question Number : 180 Question Id : 5406266612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed o ¥ Si[< are &1 994 Hifo|
Options :

1. % g8 Y8R A B AT SIdl g

2. % I T T1d W IR B g

3. % T IR ot S I ag i

4. ¢ 51 9% gHRT foaR Y gl B

General Hindi2
Group Number : 10
Group Id : 540626191
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Hindi Language & Comprehension2

Section Id : 540626270
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626312
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5406266613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 qul Yd&Td &1 3a18-ul [1d Hiorg|
Options :

1. % 0 A B G|

2. ¢ IS gh! Ui

3. % eI ofl b W R U

4. % 3{Ipig fa=rera S goi gl

Question Number : 181 Question Id : 5406266613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o ¥ ol YadTal &1 IR0 1d Pifod |

Options :
1. % JHH Hd 9|



2. ¢ IS g1 Ui
3. % GIGISl (el W3 U
4. % SfTpier faTerd o el g

Question Number : 182 Question Id : 5406266614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad ¥ ¥ 3/ TFY &1 3a18-0l I1d S|
Options :

1. % 9

2. % gH

3. % qEA

4.+ 3G

Question Number : 182 Question Id : 5406266614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiRad B ¥ 3 T &1 Ia1exUI JTd I |
Options :

1. % o

2. % gH

3. % g

4. I

Question Number : 183 Question Id : 5406266615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT TTq I1eRy BT Ut 1d BT

T T TR B

Options :



1. % g ug
2. JU U

3. % 3qul Ugf
4. % TRETHAS e

Question Number : 183 Question Id : 5406266615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faq 7T areRs 1 gef Jd PifeTT|

T T T R
Options :

1. ® MUy

Question Number : 184 Question Id : 5406266616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed & @ o I T gy o1 Ieeru 8?
Options :

1. % e g0 I9Y UR 31 SI1d dl s fored Sreft|

2. ¢ TR 1dt Y 37d Il g S|

3. % QQ Sl SR A

4. % g0 S Uy el ghl |

Question Number : 184 Question Id : 5406266616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed § I & wrd g g BT 3380 87



Options :

1. % Ifq g0 99T W 31 S1d df el e S|
2.« TR GGl ¥ 314 a7 ol oirdl|

3. % UG HA FIR SN

4. % 0 H Uy el ghl |

Question Number : 185 Question Id : 5406266617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TQ aTeRr T aTed JTd BT

34 GRT AR IRfdhd IaTs Sl |

Options :

1. % HHIH
2. % Hd dIY
3. % Hadrd

4. % BIAR HIG

Question Number : 185 Question Id : 5406266617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU 77T 9199 &1 9™ F1d BT

39 gRT Hiex Isford Iars S g |
Options :

|. % HH greg

2.« Y 9rh

3. % HaarA

4. % HiAR Yg

Question Number : 186 Question Id : 5406266618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
f3T 7T 9T T YbR AT Hifoid |

CREGEGE LR EISERERERIL
Options :

1. ¢ I3

2. % HgHd

3. % fafyd

4. % 31i¥d

Question Number : 186 Question Id : 5406266618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT T 9T T YhR JTd BT

g8 JAd-d 3ATHT I FdT et AT
Options :

1. ¥ I

2. % S

3. % fifga

4. % 31f¥d

Question Number : 187 Question Id : 5406266619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl 5 9, 39 fawed &1 999 o Sl faU 0 GgTak & 31 &1 a98 ¥ ¥ oad Rl 5|

SR HIR HIAT

Options :

1. % R P! I IUR HRAT
2. ¢ 8§

3. % HUC HIAT




4. % g gug TG

Question Number : 187 Question Id : 5406266619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 5 9, 39 fawed &1 99 o S faU 0 GgTak & 31l &1 Ja98 ¥ ¥ ad Rl 5|

SR HIR DAl

Options :

1. % R P! I IUR HAT
2. ¢ 98§

3. % HUS DA

4. % g gAY A

Question Number : 188 Question Id : 5406266620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fou U IR fawedt & ¥, 39 fawen &1 997 &3 S fou U geTak & 31 ol Id9% U § odad Rl g |

S[aH TSR 3T

Options :

. * SIS ST G

2. % e Il

3. % BT HUS BAT

4. ¢ ool 9% &1 Sgard 9=

Question Number : 188 Question Id : 5406266620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 8§ 9, 39 fawed &1 99 o Sl faU T GgTak & 31 &1 a98 T ¥ ad Rl 5|

S ToTR 3T




Options :

1. % TS FISTEH

2. % ¢ HAl

3. % BHI U BT

4. ool 9% ol Sgarad /=

Question Number : 189 Question Id : 5406266621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U T Trsal & g & fore Ifad didifad &1 ag4 S|
YIc YT &1 U1 Uil

Options :

1. ¢ fafay sFya v fobw g

2. % §gd 1D gl

3. % EUBR b S B WG S

4. % g YIC Y gRfd g

Question Number : 189 Question Id : 5406266621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 7T Tsal & g & oy Ifd Aiwifad &1 9g4 S|
Y1 °Tc &I U=t g

Options :

1. ¢ fafay srqya ured fopu g1
2. % §gd ATeND BT

3. % WUBR & Od Bl WG o]
4, % g 91e 9 gRfad g

Question Number : 190 Question Id : 5406266622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fou ¢ foRmH Fag & IR &1 ugaH S|

A

Options :

1. % 3&XU

2. % DIYD

3. ¥ gUUG

4. % 3fcUfaRTd

Question Number : 190 Question Id : 5406266622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U foRmA fag & IR &1 ugaH Sifv|

N

Options :

1. # 3

2. % DIYD

3. ¥/ BUUq

4. % 3fcUfoRd

Question Number : 191 Question Id : 5406266623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7w are ® forg UpR & formH foig o1 SudT foban T B, S9! ugEH Siforu|

“Tg ST g8 g1 YyH g 17
Options :

1. % 3T

2. % @i

3. % 9




4. ¢ AHddRU

Question Number : 191 Question Id : 5406266623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U 91 # fh g U R & favTH forg o1 Sua foham T §, S9! UgeH S|

T T g g1 YH g 17
Options :

1. % 3Ie

2. % JGihA

3. % @Y

4. " 3{ddU]

Question Number : 192 Question Id : 5406266624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7w a1 ® ford U & foRmH foig o1 SudiT foban T B, S9! ugaH Siforu|
d — fe7 uRym 3 R Il fied g

Options :

1. # HqdRul
2. % ddd

3. % guf fvm
4.« GIoh

Question Number : 192 Question Id : 5406266624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1 # fh g U R & faRTH forg o1 Sua fohan T §, S9! Uge S|
d — fe7 ufRe S IR Iwddr fiadl §




Options :
1. % 3l

3:33110‘?1%?11:[
4. ¢ g9

Question Number : 193 Question Id : 5406266625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i deifeaal & 3 <3NaT Afdd fdd sRET g1’
g HTd fhg Tepifad P18l bl g2

Options :

1. ¢ YA TRI SADd ST
2. % Il AR DIdard Bl §ic
3. % 3 B Wi a1 bt i
4. % A g Bid] GhaM

Question Number : 193 Question Id : 5406266625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed areifeaal & J <nsT e sifde saRar g1’
g HTd 5T Apifad o1 81 Tohdl 82

Options :

1. ¢ YT TRI Belbd oY
2. % Il AR DIqard Pl 8ic
3. % 3fIs I Wifd a1 1 i

4. % Gt gHM Wid] IHaH

Question Number : 194 Question Id : 5406266626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f&T 7T wrec} & g &1 Tt 31 F1d BifvTL
3MTY A STTs IR 3R & g &a

Options :

1. % WY T e 3R 1A ¢

2. % GG HH B A ford} 3R B A ¢ |

3. % g ol Tad S A B

4. T fHeft 10 BT 9 HAT 3R ST B D [ GIRT B IS AT

Question Number : 194 Question Id : 5406266626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T wrsat & TE 1 TG 31 [ BT
3TY = ST TR 3R & g

Options :

1. % WY T T frt 3R BT A 1

2. % I HH B A fordl 3R Bl dA ¢ |

3. % g W Ted HH A DL

4.« WY fHT B BT 9 HAT 3R YD B & AU GIRY DI JUS AT

Question Number : 195 Question Id : 5406266627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Trec & g & fory Iferd gerar 1 aue I

A1E - Sl

Options :

1. % &MHE U dd SIa-T
2. % B B Hl gIHT
3. % ST e STaT



4.« HH IR T

Question Number : 195 Question Id : 5406266627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu 7TQ wrsal & g & forw 3o Herak o1 999 Bifoi|

RA1E - Sl

Options :

1. % ®FE U ad STl
2. % B B Hl 8-l
3. % B el STeT
4.« HH RS F T

Sub-Section Number : 2
Sub-Section Id : 540626313
Question Shuffling Allowed : Yes

Question Id : 5406266628 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

IR BT YA Ug 3R 3T T Ui & SR < |

HE- P! dTe YR H TR 81 3R HRAIHRUT BT ART 81, fohg aRafadhd § 9§ 3R RIS dgd! o Tl & | A=), Afiel, TegrT a1
= 7 ggdl YIS iR YRR Arendl gRT Al 3R Udf & UTUh dHadel § 3T & Yoo & I YA Ad Uiy ; i g 99 I UBR YHS
&, O ‘T g1 g YIS i MERRY arafads Siiae # for oeRur & srief cafad 31 9qg ¥ &1 ol 8 S9®! Sad Ul Jikebd gl T g
T8 R g b i It Y predfAes SraurRon § Aed UM & ot $3 A &l AIde! ! agare] UaR {1l 3 SR o, Afd 3id Tieht
S St & S8 7 ) IS AT BT Fd e HRaT [GaTs a1 8 3R 181 B8 ge ard draex) 3 e St &) |died Tor 3mar g1 e &l
Rt & =0 H 3 & RIAUE HUMS H1 g IR GHTE 81 81 el GobdT | fhed It 3R THTa <ra 17 et 1 S1eT SMTaR0T ¥ JHe
% HRUT AN Y §H 2 aLaR 3R 30 T B! TS SMSaR A HIA I T TG &, Afp o1 SiIg-H & Ui SR 811 1 g Tife
WA g 3R 3T SR H IR BT Ub el ad HRd &, SYB] AXHE UHT Ht THR UM & Sita= | Udid a1 gidT|

Sub questions

Question Number : 196 Question Id : 5406266629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AT 4TS 1 e Y &t o forer &1 712 82
Options :

1. % Sitgd &I aRdfdear 4

2. ¢ AR &t Fgd! SMRATEAAT

3. % ¢ SaT & 1 A

4. % T WR Sfla 9

Question Number : 197 Question Id : 5406266630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HfeR- - TogR! # gedt HiS & Srace arll & STRIEH &gl T8 Fifs
Options :

1. % 981 vure Fadr gl

2. % Y GATS H 33T RIF U g 5 |

3. ¢ I S YH HT gWicT g @ g |

4. % UI% Hfad I1edl & fb a8 Sifad 3|

Question Number : 198 Question Id : 5406266631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AR P g U A e g, fFSTm
Options :

1. ¥ ST 3MTaR0T 1 52

2. % Rrgiaanes?

3. % QA A FT G2

4. % g R

Question Number : 199 Question Id : 5406266632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafaRad & T fooa anm o v fovar T g2
Options :

1. % TS Sieq ardl IR

2. % Tl A wden gl R

3. ¢ Tt O AT TR TS I SR aTal IR
4. % TFT YIS e S Tl IR

Question Number : 200 Question Id : 5406266633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T FT e 1 HifoTg |
Options :

1. ¥ AT

2. ¢ TR T O OoTe

3, % rgfore el ot

4. % Sia-ged

Question Id : 5406266628 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

RIS 1 YD Ug 3R U T Ueff & S<R ¢ |

Hg- Pl dlg HRA H WA 81 3R HRATGHRUT &1 -IRT 81, fbg arafadhdl & F 1R STUTE T g d! off Xa! ¢ | HieRl, ARG, TegRT a1
T H ggal His 3R IR ATeHl gRT Hdl 3R Udf & Sus dasl I ST & IeH § is YH Ad UIeT ; i I8 99 34T PR UTHS
&, SR T Xg! AT WTS i MERRY arafass Siias §f for omeRur &) srief cafad a1 9qg § &1 ot 8 S9D! ae U1 JiRehd gl T 5|
T HRUI | o T i} &) SIeuf e SaURuT Y Hed U & U $© ANl &l A1 ! dTgare! TR ATeHl 3 STHSR B, Afd 3 Tieh
ST Sa & d1G A dl Pl ATE B Hdl He Rl QT odl g 3R A1 8 Dl e aTd Braex ¥ Mieht et g @iad ToR 3irar g | ieh &
Ry & T H i & RAHE HUFS BT Pig R THT B 81 ot GabdT | fiher It 3R THTa =al 71 it &1 a7 S1avur ¥ 9o
& PRI Y I BH 2 AR 3R 30 SR Bl HS TSR AT Hd I 3B 8, Al for Shia-Hed! & Ui STRITAH g B gH Aqfe
WA & 3R I3 3R H AR BT el Tad B 8, STbT AHE YHTE Ht THR MU & Sita= | Udid g1 gidTl

Sub questions




Question Number : 196 Question Id : 5406266629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol HTS 1 T7ief} Y ) et foperd ) i 22
Options :

1. % Sfia B IRAfdDH T

2. ¢ AR &t Igd! SMTRATEAT

3. % B A & FRI 9

4. % TEAT U Sia 9

Question Number : 197 Question Id : 5406266630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HiR-TAE-TEgRI & Fedt 1S & JTacig anll &I STRITEH Hel Mg Jife
Options :

1. % g1 e Haarg|

2. % TUY U H 3T T U g ]

3. ¢ I8 Y& 4 BT q™icT Ugd T g |

4. ® UJ% Hfad I1edl § f a8 Shfad 33|

Question Number : 198 Question Id : 5406266631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ATt P g U A e e, fF e
Options :

1. SRR SMTaR0T T 52

2. % Rrgiawns?

3. % QA A |2

4. % ST RIE?

Question Number : 199 Question Id : 5406266632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFrofafea & 3 for artl iR = far g2
Options :

1. % TS Sie- ardl I

2. % et St W ATl )R

3. ¢ TTEl O A TR I} S A a1l TR

4. % TF1 YIS fOhed S Tl IR

Question Number : 200 Question Id : 5406266633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UGG TR &1 e J1d PifoTg |
Options :

1. % 3T

2. ¢ TIERRRY: TP foe T oot

3. % TR i o

4. % S



